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Name of the Candidate

Examination Name KVS TGT Work Experience

Exam Date & Time 13-02-2023 09:00:00

Subject : GE_Q01-Q15_TGTWE

Question ID:- 181

Friendly

(1) Cruel
(2) Hard
(3) Hostile
(

4)  Amicable

Options:-

=1, Option ID :- 721,
=« 2, Option ID :- 722,
= 3, Option ID :- 723,

= 4, Option ID :- 724,
Answer Given:- 4, Option ID : -724

Choose the word similar in meaning to the one given below :

Question ID:- 182

Gracious

(1) Graceful
(2) Polite

(3) Good

(4 Handsome

—

Options:-

=1, Option ID :- 725,
= 2, Option ID :- 726,
=« 3, Option ID :- 727,

= 4, Option ID :- 728,
Answer Given:- 1, Option ID : -725

Choose the word similar in meaning to the one given below :

Question ID:- 183
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Choose the word opposite in meaning to the one given below :

Initial

(1) Previous

(2) Temporary

(3) Permanent

(4) Final
Options:-

=1, Option ID :- 729,
= 2, Option ID :- 730,
=« 3, Option ID :- 731,

= 4, Option ID :- 732,
Answer Given:- 4, Option ID : -732

Question ID:- 184

Choose the word opposite in meaning to the one given below :

Mobile

(1) Stationary

(2) Fluctuating

(3) Errant

(4) Stative
Options:-

=1, Option ID :- 733,
= 2, Option ID :- 734,
»« 3, Option ID :- 735,

= 4, Option ID :- 736,
Answer Given:- 1, Option ID : -733

Question ID:- 185

Identify the Part of Speech of the underlined word in the following sentence :

My brother is coming to stay here.

(1) Noun

(2) Verb

(3) Adjective

(4) Adverb
Options:-

=1, Option ID :- 737,
= 2, Option ID :- 738,
= 3, Option ID :- 739,

= 4, Option ID :- 740,
Answer Given:- 2, Option ID : -738

Question ID:- 186



https://aview.in/
https://aview.in/category/previous-papers/

@
NIEW

2/23/23, 10:45 PM Response Sheet

Identify the Part of Speech of the underlined word in the following sentence :

The book contains a lot worthy of remark.

(1) Noun

(2) Verb

(3) Adjective

(4) Adverb
Options:-

=1, Option ID :- 741,
= 2, Option ID :- 742,
=« 3, Option ID :- 743,

= 4, Option ID :- 744,
Answer Given:- 3, Option ID : -743

Question ID:- 187

Choose the option in which jumbled words/phrases have been rearranged to make correct sentence.
(A) cable was left

(B) of the wall

(C) poking out

(D) the end of the

(1) CDAB
(2) BACD
(3) ABDC
(4 DACB
Options:-

=1, Option ID :- 745,
= 2, Option ID :- 746,
=« 3, Option ID :- 747,

= 4, Option ID :- 748,
Answer Given:- 4, Option ID : -748

Question ID:- 188

Choose the option in which jumbled words/phrases have been rearranged to make correct sentence.
(A) point of view
(B) been written
(C) the book has
(D) from Cathy’s

(1) CBDA
(2) BCDA
(3) DABC
(4 ACBD

Options:-

=1, Option ID :- 749,
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=« 2, Option ID :- 750,
» 3, Option ID :- 751,

= 4, Option ID :- 752,
Answer Given:- 1, Option ID : -749

@
NIEW

Question ID:- 189

Choose the option in which VOICE in the following sentence has been correctly changed.
He does not particularly like the work.

(1) The work is not liked by him

(2) The work is not particularly liked by him

(3) The work is not liked particularly by him

(4) The work is generally liked by him

Options:-

=1, Option ID :- 753,
= 2, Option ID :- 754,
=« 3, Option ID :- 755,

= 4, Option ID :- 756,
Answer Given:- 2, Option ID : -754

Question ID:- 190

Choose the option in which VOICE in the following sentence has been correctly changed.
Have you written the letter ?

(1) Has the letter been written by you ?

(2) Has the letter been written ?

(3) Had the letter been written ?

(4) Has the letter been written by you.

Options:-

=1, Option ID :- 757,
= 2, Option ID :- 758,
= 3, Option ID :- 759,

= 4, Option ID :- 760,
Answer Given:- 1, Option ID : -757

Question ID:- 191

Identify the tense form in the following sentence.
[ have been going through this report.

(1) Present Perfect

(2) Present Perfect Continuous

(3) Present Continuous

(4) Future Continuous

Options:-

=1, Option ID :- 761,
=« 2, Option ID :- 762,
= 3, Option ID :- 763,
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= 4, Option ID :- 764,
Answer Given:- 2, Option ID : -762

Question ID:- 192

Identify the tense form in the following sentence.
They had been living here for four years.

(1) Present Perfect Continuous

(2) Past Continuous

(3) Past Perfect

(4) Past Perfect Continuous
Options:-

=1, Option ID :- 765,

= 2, Option ID :- 766,

=« 3, Option ID :- 767,

= 4, Option ID :- 768,
Answer Given:- 4, Option ID : -768

Question ID:- 193

Fill in the blank in the following sentence with suitable option.
He was hit a car the road.
(1) with; along

(2) in;in
(3) by;on
(4) Dby;along

Options:-

=1, Option ID :- 769,
=« 2, Option ID :- 770,
=« 3, Option ID :- 771,

= 4, Option ID :- 772,
Answer Given:- 3, Option ID : -771

Question ID:- 194

Fill in the blank in the following sentence with suitable option.

My laptop has run charge.
(1) onin
(2) infor
(3) outof
(4) onfor
Options:-

=1, Option ID :- 773,
=« 2, Option ID :- 774,
= 3, Option ID :- 775,

= 4, Option ID :- 776,
Answer Given:- 3, Option ID : -775
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Question ID:- 195

Choose the option in which the given sentence has been correctly changed into indirect Narration.
The gardener said, “Please keep off the grass”.

(1) The gardener ordered the public to keep off the grass.

(2) The gardener told the public to keep off the grass.

(8) The gardener requested the public to keep off the grass.

(4) The gardener advised the public to keep off the grass.

Options:-

=1, Option ID :- 777,
= 2, Option ID :- 778,
=« 3, Option ID :- 779,

= 4, Option ID :- 780,
Answer Given:- 3, Option ID : -779

Subject : GH_Q16-Q30_TGTWE

Question ID:- 196

Tyfafad Ty 1 erAgEs gfeu St 38 SER W fau T ued &1 9 W S

e sitae =i frfa st gfte & fau sem =1 Jur ey € guers & gt TuswRi &
el & foh TSl H UH-gEL i TRIAA! ST 157 & TEER | &1 St € Af e 9 < S d1 wH-
&1 H TR TErEdl o Gedl Sl earel foRdi-A fret ® o seon € femnd it i 9w we e
TP T HETA! Fl TR Yedsh &1 Hedl 78 ¢ | 78 Fed o1 Iy 2 & Jur 9 us g &1 g
faa=m g i 59 UshR o gy g 9 gfte @i 81 i Sl dfce |4 ol d: g4 HLardl
TTo § Y S )

FHEVI ] JER SETF T :
(1) SIS Sied o g4R & fau

(2) TETS F IER F fa

(3) Wt % Sita H guR % fo

(4) HrTRsR Sited 1 feafa oiR gfie & fou
Options:-

=1, Option ID :- 781,
=« 2, Option ID :- 782,
=« 3, Option ID :- 783,

= 4, Option ID :- 784,
Answer Given:- 4, Option ID : -784

Question ID:- 197



https://aview.in/
https://aview.in/category/previous-papers/

@
NIEW

2/23/23, 10:45 PM Response Sheet

Trefafas iy 1 wrAyde 9feu 3R 35 3TUR 11 fau Tu 999 1 Heleh S aifa
et sitae =i feafa st gfte & fau sem =1 J9R sTevas ¢ | Seers & gfvadt Tusmni &
el & o TS H UH-gHY ot Heran STUA-ST0A 26T o faem | @ 9t € afe sam | Sw e 1 -
&3 H YT TRl hi Hodl e eAarel fed-A fedl w5 wen g feaE ol Au e we E e
YRR T HETIAT Fl TR0 Yedeh 1 Hedil 78 o | H Fed o1 A9y 2 6 Jur 9 us g &t werma

faar=mn gru ffvad 59 wehR o g R 9 gfte @t @1 i Sl dfees |9 ol &&d: Ygd wardl
YO § &l St 2

TS H UF T T W

(1) & o1 feq % forg =t st €

(2) 3T 9 T & fau i S §
(3) T2 | § it §

(4) ST 3T9T T&T % AR A T S ®

Options:-

=1, Option ID :- 785,
= 2, Option ID :- 786,
= 3, Option ID :- 787,

= 4, Option ID :- 788,
Answer Given:- 4, Option ID : -788

Question ID:- 198

Tyefafad iy 1 wrydes 9feu 3R 35F R 11 feu U 99 %1 Heie ST S

e sitae =i feafa it gfte % fau s o1 TuR sTevds T | Seeers & ufvaHt TusRi &
Fel & foh TSl H Ush-gE I HRAAT S 39H 167 % foER § o) S €; afe e 9 <@ §w d1 wH-
A H IR WEEdl ol gl SueH ararel fohe-= Tt w H sweon & fem St i T w1 fE
TR o1 HRTIA1 Tl IRUTH Ui o1 hedm 98 ¢ | HY Fe o S1iiur 2 for o § U gH ot wer
fad=m g fAfesd 39 ysR & g ufom 42 gfie e 78 &1 il afes 57 &l @d: 999 warat
Ton & T S

TR Rl bl Hedl el
(1) TUsR ¥ foerdt @

(2) wefaar § faert &

(3) HE H frerd &

4) 99 H fiyer §
Options:-

=1, Option ID :- 789,

= 2, Option ID :- 790,

= 3, Option ID :- 791,

= 4, Option ID :- 792,
Answer Given:- 3, Option ID : -791

Question ID:- 199
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Tyefafad iy 1 wryde 9feu 3R 35 3TUR 11 feu U 999 %1 Heie S G
et sitae =i feafa st gfte & fau sem =1 J9R sTevas ¢ | Seers & gfvadt Tusmni &
el & o TS H UeH-gHY T Heran SO 270 26T o foem | w9t €; afe sam | Sw e 1 -
&3 H YT TRl hi Hodl e eAarel fed-A fedl w5 wen g feaE ol Au e we E e
YRR T HETIAT Fl TR0 Yedeh 1 Hedil 78 o | H Fed o1 A9y 2 6 Jur 9 us g &t werma

faar=mn gru ffvad 59 wehR o g R 9 gfte @t @1 i Sl dfees |9 ol &&d: Ygd wardl
YO § &l St 2

HYR ¥ U THL I HEE

(1) Te& =1 w&rd: Yga &L arell W0 | =i Sl 8

(2) TAHF AT

(3) A I Wd: WIW HT Arel YN H i Sl §

(4) TA I AT HX g gRomH W e TEe i S §

Options:-

=1, Option ID :- 793,
= 2, Option ID :- 794,
= 3, Option ID :- 795,

= 4, Option ID :- 796,
Answer Given:- 3, Option ID : -795

Question ID:- 200

Ty=fafas iy 1 wryde 9feu 3R 35E R 11 fau U 99 %1 Heie SR S
e sitae =i feafa it gfte % fau s o1 TuR sTevds T | Seeers & ufvaHt TusRi &
el & o TS § UH-gHY T Hear S-S0 26T o ToeR ¥ w6 St € afe sam | Sa S 1 -
A H IR WEEdl ol gl SueH ararel fohe-= Tt w H sweon & fem St i T w1 fE
TR o1 HRTIA1 Tl IRUTH Ui o1 hedm 98 ¢ | HY Fe o S1iiur 2 for o § U gH ot wer

faa=mn gru Ffvad 59 ushR o gy R 93 gfte Tt @1 i Sl dfees |4 ol &d: Jgd sLardl
YO § i S 2

Options:-

=1, Option ID :- 797,
= 2, Option ID :- 798,
= 3, Option ID :- 799,

=« 4, Option ID :- 800,
Answer Given:- 2, Option ID : -798

Question ID:- 201
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Tre=fearfad o safemeraes d amen v = ¢

(1) g¥m™
(2) T
(3) RIS
(4) T
Options:-

=1, Option ID :- 801,
= 2, Option ID :- 802,
= 3, Option ID :- 803,

= 4, Option ID :- 804,
Answer Given:- 3, Option ID : -803

Response Sheet

@
NIEW

Question ID:- 202

(1) wifers

(2) HiHEH

(3) HmEE!

(4) URefRH
Options:-

=1, Option ID :- 805,
=« 2, Option ID :- 806,
= 3, Option ID :- 807,

= 4, Option ID :- 808,
Answer Given:- 4, Option ID : -808

Question ID:- 203

(1) wfa
(2) TR
(3) wEH
(4) TH
Options:-

=1, Option ID :- 809,
= 2, Option ID :- 810,
=« 3, Option ID :- 811,

= 4, Option ID :- 812,
Answer Given:- 4, Option ID : -812

Question ID:- 204
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(1) OIS |HE =

(2) o7 woE =

(3) FHHIME FHH
(4) HHYRE AW
Options:-

=1, Option ID :- 813,

= 2, Option ID :- 814,

= 3, Option ID :- 815,

= 4, Option ID :- 816,
Answer Given:- 3, Option ID : -815

Response Sheet

@
NIEW

Question ID:- 205

TR iy aren e 79«
(1) g

(2) e

(3) IS

(4) i
Options:-

=1, Option ID :- 817,
=« 2, Option ID :- 818,
=« 3, Option ID :- 819,

= 4, Option ID :- 820,
Answer Given:- 4, Option ID : -820

Question ID:- 206

fr=fafad | 1oarEes faRmm 72 8
(1)
(2) =
(3) “ed
(4) 3fed
Options:-

=1, Option ID :- 821,
= 2, Option ID :- 822,
= 3, Option ID :- 823,

= 4, Option ID :- 824,
Answer Given:- 1, Option ID : -821

Question ID:- 207
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Trefafed wes 7l | aem-agyd 1 STHT I ¢

(1) w7
(2) PH-PE
(3) ZIR-FH
(4) -3
Options:-

=1, Option ID :- 825,
= 2, Option ID :- 826,
= 3, Option ID :- 827,

= 4, Option ID :- 828,
Answer Given:- 4, Option ID : -828

Response Sheet

@
NIEW

Question ID:- 208

Freafafes § wawef ves 3
(1) Fa%

(2) @fa

(3) ™

G
Options:-

=1, Option ID :- 829,
= 2, Option ID :- 830,
= 3, Option ID :- 831,

= 4, Option ID :- 832,
Answer Given:- 1, Option ID : -829

Question ID:- 209

" sf1ra femm’ geEl o1 Wl 1Y ©

(1) =R FHE

(2 feerm

(3) @S

(4) HIh T FTHR HEA
Options:-

=1, Option ID :- 833,
= 2, Option ID :- 834,
= 3, Option ID :- 835,

= 4, Option ID :- 836,
Answer Given:- 3, Option ID : -835

Question ID:- 210
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frefafad § st F e Y qg T ¥
(1) g
(2) SIS
(3) favamm
(4) =
Options:-

=1, Option ID :- 837,
= 2, Option ID :- 838,
= 3, Option ID :- 839,

= 4, Option ID :- 840,
Answer Given:- 1, Option ID : -837

Subject : GKCA_Q31-Q50_TGTWE

Question ID:- 211

What is “Vidyanjali’ launched by the government of India in September 2021 ?
(1) Integrated scheme for school education from pre-school to class XII

(2) A portal enabling community volunteers to interact with schools

(3) Foundational literacy programme
(

4)  Platform to access study material for visually impaired students

YT TR 511 faawar, 2021 § g& &t T ‘fawista’ ®n g ?

(1) ge-Taemerd 9 sen-XI1 7% el e o fore gafea drsm

2) S WE e gRI Whdll ¥ URENE-ERA1 T 1 99 S arel U 4
3)  FfTadt WA R

4) gfe—ariyd SEi % O s1eeH 9l T T a1l ©ISEH

(
(
(

Options:-

=1, Option ID :- 841,
= 2, Option ID :- 842,
=« 3, Option ID :- 843,

= 4, Option ID :- 844,
Answer Given:- 4, Option ID : -844

Question ID:- 212

What was the budgeted expenditure of the central and state governments combined on the health
sector in India in 2021-22 ?

(1) 2.1% of the GDP
2) 3.1% of the GDP
3) 3.8% of the GDP

(
(
(4) 48% of the GDP
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Y 2021-22 § 9RA § WA &9 W Fs 31 T59 GHA i et aserd o7 fawan 91?2
(1) i< 1 2.1%
(2) Sl 3.1%
(3) SISl *1 3.8%
(4) SIS 1 4.8%

Options:-

=1, Option ID :- 845,
= 2, Option ID :- 846,
= 3, Option ID :- 847,

= 4, Option ID :- 848,
Answer Given:- 1, Option ID : -845

Question ID:- 213

According to Indian Constitution, reasonable restrications can be imposed on the exercise of the
Fundamental Right to “assemble peaceably and without arms” in the interest of which of the
following ?

1)  Public order

2) Defamation

3) Incitement to an offence
4) Morality

R S & AR, Frefafed 3 9 femes fod § ‘wnfages it gy g’ & ge S o
AT T TR gfeE e e S et © 2

(1) ek HaE

(2) =H BIH

(3) SIUY-IEH

(4) Afqewa
Options:-

=1, Option ID :- 849,
»« 2, Option ID :- 850,
» 3, Option ID :- 851,

= 4, Option ID :- 852,
Answer Given:- 1, Option ID : -849

Question ID:- 214

Who was ‘Dolly’- the first mammal to have been successfully cloned from an adult cell ?
(1) A monkey

(2) A sheep

(3) Adog

(4) A pig
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ek U5 HIT9Teh] § Thedrdeh el [l T4 Ugel W4 Sig Eial’ ®iF o1 ?
(1) TR
(2) TUH T
(3) WP
(4) Th PPN
Options:-

=1, Option ID :- 853,
=« 2, Option ID :- 854,
= 3, Option ID :- 855,

= 4, Option ID :- 856,
Answer Given:- 2, Option ID : -854

Question ID:- 215

What was ‘Operation Flood’, which was started in 1970 in india ?

(1) Pan-Indian aforestation programme inspired by the Chipko Movement
(2) Nickname for the Five-Year Plan emphasizing on big dams

(3) Anti-displacement forum created by the coastal fishing communities
(4) Rural Development programme organizing milk cooperatives

IRd H 99 1970 § % foan 741 * A9 were’ = o ?

(1) Teven! sTice™ ¥ 3R T Afad e S e
(2) & FiE W FA o el GHeHid AISH 3T

(3) T PN WHSE SR ST T faemgme vy

(4) ST HERINAR I Hiod L arel YTHTYT fohr
Options:-

=1, Option ID :- 857,

=« 2, Option ID :- 858,

» 3, Option ID :- 859,

= 4, Option ID :- 860,
Answer Given:- 4, Option ID : -860

Question ID:- 216

Who was the first women recipient of “Bharat Ratna” in India ?
(1) Aruna Asaf Ali

2)  Mother Teresa
3) Indira Gandhi

(
(
(4) M.S. Subbulakshmi
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T H  9RA T’ W A aTell el Hieel i o ?
(1) ST&EU SAHE T

(2) HEL I

(3) Sfew iR

(4) THUH. FATAH!
Options:-

=1, Option ID :- 861,
= 2, Option ID :- 862,
= 3, Option ID :- 863,

= 4, Option ID :- 864,
Answer Given:- 4, Option ID : -864

Question ID:- 217

Which among the following will not be a mitigation technique to manage landslides ?
(I) Hazard mapping to locate areas prone to landslides

(2) Increase in vegetation cover to arrest rocks and debris

(3) Removal of retention walls to allow smooth exit of rocks and debris downward
(4)

4) Surface drainage control to check the movement of debris and rocks along with rain water

and spring flows

Frafafea § 9 #F g-T@e-i w1 F9 FH F d6110 6l anl 2

(1)  Y-FFE Yav1 &30 1 01 T 8 SHied JEf=s

(2) HEl AR HeTd = Yk o Tow Feafd Fat =l s

(3) HEMI 2 Hersl i A i SR ST | S SH ¥ STEeH <ani i g2l
(

4)  av S ST T F UHI 6 YaTE & HiY gore 3 FgEl i SR i Uk o U Hegl Ty
[ERER

Options:-

=1, Option ID :- 865,
= 2, Option ID :- 866,
= 3, Option ID :- 867,

= 4, Option ID :- 868,
Answer Given:- 3, Option ID : -867

Question ID:- 218

Which of the following was incorporated into the United Kingdom in 1801 after a failed revolt led
by Wolfe Tone ?

(1) Scotland
(2) Ireland
(3) Wales
(4) Oxford
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e 2M % Agcd H Uk SEhe faale & 96 ad 1801 H, fefafaa § 9 fy gaees fohren § wnfva
IERIRIDIR

(1) THieds

(2) IAEElE

(3) 9w

(4) STFHEE
Options:-

=1, Option ID :- 869,
»« 2, Option ID :- 870,
» 3, Option ID :- 871,

= 4, Option ID :- 872,
Answer Given:- 3, Option ID : -871

Question ID:- 219

Which of the following films was based on a short urdu story written by Ismat Chughtai and was
set in the backdrop of the partition of India ?

(1) GARAM HAWA (1973)
2) KALYUG (1981)

3) SAAT HINDUSTANI (1969)

(
(
(4) NAYA DAUR (1945)

IRd % favieH &1 e W o4l IR 3990 =as g1 fofad U @y 35 Ferl W e fren
fefafea d G wm 9 2?2

(1) T & (1973)

(2) =REE (1981)

(3) @ fegEmT (1969)
(

4) A IR (1945)

Options:-

=1, Option ID :- 873,
»« 2, Option ID :- 874,
» 3, Option ID :- 875,

= 4, Option ID :- 876,
Answer Given:- 1, Option ID : -873

Question ID:- 220

Which of the following pairs regarding the names of the UN Secretary Generals and their countries
is incorrectly matched ?

(1) Dag Hammarskjold - Austria

(2) U Thant - Burma (Myanmar)
(3) Kofi Annan - Ghana

(

4) Ban Ki-moon - South Korea
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T U Hemiadl iR 39 9 % A are fefaten g § | 59 9 gm @ 99 fhen T8 fm
T E?

(1) BF SHEhsIes ’ afezan

(2) Fure - =W (FER)

(3) HIHE HAEA - HM

(4) FH-H-TH - afge i
Options:-

=1, Option ID :- 877,
= 2, Option ID :- 878,
= 3, Option ID :- 879,

= 4, Option ID :- 880,
Answer Given:- 4, Option ID : -880

Question ID:- 221

Consider the following statements about India’s nuclear policy :

(a) India started to invest in nuclear programmes in late 1940s under the leadership of Homi
Bhabha.

(b) The Department of Defence Production and the Department of Defence Supplies were
established in the decade of 1970s after the war with Pakistan.

(c) India has not signed the Comprehensive Test Ban Treaty.
Choose the correct answer from the codes below :

(1) Only (a)

(2) Only (¢)

(3) Only (a) and (c)
(4) Only (b) and (c)

R &1 9L Hifd o o1 § fefafaa weAi w fa=m #ifan )

(a) WA 7 BT W11 % g H 1940 % IT0Y H THI HEHA H Fow Hwen gE

(b) US| g % 918 1970 % Uk H &7 Jedre fawrT 3i) 1an swyfd fasm =it wemen 1 778 |
(c) a7 =age qeAry] gder yiss S o swmar T8 e €

e feu Tu Fe ¥ WE I A A Fiforg |
(1) 99 (a)

(2) I (c)

(3) e (a) SN (c)

(4) % (b) AR (c)

Options:-

=1, Option ID :- 881,
= 2, Option ID :- 882,
= 3, Option ID :- 883,
= 4, Option ID :- 884,
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Answer Given:- 4, Option ID : -884

Question ID:- 222

Consider the following statements regarding Indian music :
(a) Purandara Dasa is known as the father of the Hindustani genre of Indian classical music.

(b)  M.S Subbulakshmi was associated with Carnatic music and was the first musician ever to be
given the Bharat Rata.

(c) Begum Akhtar was associated with Hindustani classical music.
Choose the correct answer from the codes below :

(1) only (a)

(2) only (b) and (c)
(3) only (a) and (b)
(4)  only (b)

RGeS & g § Freafafad weA @ fa=m sifeg)

(a) TR TTE I ARG W Hifa w1 gt Ireft 1 5 | S ¢ |

(b) THUH. YearasHt FwAtesh H@iitd 9 Haferd € o YR & Wi i St ugd! e € |
(c) onTH e femgwarl et it § geifd €1

e feu T e § HEl I A A Fifore |
(1) e (a)

(2) e (b) 3 (c)

(3) ke (a) ¥R (b)

(4) A (b)

Options:-

=1, Option ID :- 885,
= 2, Option ID :- 886,
= 3, Option ID :- 887,

= 4, Option ID :- 888,
Answer Given:- 2, Option ID : -886

Question ID:- 223

Who among the following has been awarded a one-time Sangeet Natak Akademi Amrit Award
under Azadi Ka Amrit Mahostav (AKAM) in the field of Performing Arts ?

(1) Yapchung Kazi

(2) B.M. Reddy

(3) Sartaj Narain Mathur
(4)

4) Gopal Chandra Biswas
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Trefafed § 9 8 Y5 el (Performing Arts) o &3 H SISIG] &1 215d Halcdd (AKAM) %
T IR T A2 STREHT 2790 TEHR YoM fohar 71 2
(1) AT I
(2) TG
(3) HIAS TEE HIYL
(4) T g5 fowams

Options:-

=1, Option ID :- 889,
»« 2, Option ID :- 890,
»« 3, Option ID :- 891,

= 4, Option ID :- 892,
Answer Given:- 1, Option ID : -889

Question ID:- 224

Which of the following aspect(s) is/are correct about secondary memory ?
(a) Volatile

(b) Non-Volatile

(c) Permanent Storage of data

(d) Temporary Storage of data

Choose the correct answer from the codes given below :

(1) only (a) and (c) are correct
(2) only (a) and (d) are correct
(3) only (b) and (c) are correct
(4) only (b) and (d) are correct

Hfore T % day § w9 /8 Tee WE 2E 2
(a) EISEES

(b) AlA-aferREa

(c) STeT o1 AT RS

(d) ST SR B

ey few mu w2 A 9 9d 3R g

(1) ad (a) 3R (c) T T

(2) FE (a) AR (d) TE T
(3) FEE (b) 3R (c) TE T
(4) Fae (b) 3R (d) T T

Options:-

=1, Option ID :- 893,
= 2, Option ID :- 894,
» 3, Option ID :- 895,

= 4, Option ID :- 896,
Answer Given:- 2, Option ID : -894
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Question ID:- 225

Where was the UN Biodiversity Conference held in December, 2022 ?
(1) Montreal, Canada

(2) Paris, France

(3) New York, USA

(4) Seoul, South Korea

fegmar, 2022 # 3,09, ardreEafdd kY Fel 5 o ?
1) mfema”ewa

Options:-

=1, Option ID :- 897,
= 2, Option ID :- 898,
= 3, Option ID :- 899,

= 4, Option ID :- 900,
Answer Given:- 1, Option ID : -897

Question ID:- 226

Match the Countries given in List - I with their Rank in Global Food Security Index 2022 in
List - 1I.

List - 1 List - II
(a) Finland @ 1
(b) India (i) 68
(c) Bangladesh (iii) 80
(d) China iv) 25

Select the correct answer using the codes given below :

(1) (@)-@), (b)-(it), (c)-(iii), (d)-(iv)
(2)  (@)-(1), (b)-(ii), (c)-(v), (d)-(3)
(3)  ()-(i), ®)-v), (0)-(), (d)-(i)
(4)  (@)-@v), (b)), (0)-(i), (d)-(iii)
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et - 14 fou o &9 =01 gEit - 1Y fEu o Sfvess @ gren geekis, 2022 9 396 wE & e e
whifsT |

Tt - 1 Tt - 11

(a) THIcis @ 1

(b) WA (i) 68

(c) @ierew (iii) 80

(d) =M (iv) 25
ﬁmW@WWW@Gﬁwwwml
(1) (@)-@), (b)-(ii), (c)~(iii), (d)-(iv)

(2)  (a)-(i), (b)- (m) (0)-(iv), (d)-(3)

(3)  (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(4 (@)-(iv), (b)-(1), (c)-(ii), (d)-(iii)
Options:-

=1, Option ID :- 901,
= 2, Option ID :- 902,
=« 3, Option ID :- 903,

= 4, Option ID :- 904,
Answer Given:- 1, Option ID : -901

Question ID:- 227

Assertion (A) : Hormonal Stimulation is used to breed different kinds of fish in pond.

Reason (R) : There is a lack of availability of good quality fish seed due to the fact that many
fish species breed only during monsoon.

Select the correct option from the given alternatives.

(1) Both (A) and (R) are true, and (R) explains (A).

(2) Both (A) and (R) are true, but (R) does not explain (A).
(3) (A)is true and (R) is false.

(4) (A)is false and (R) is true.

fueRem (A) : T § fafi= mefadi & wo & fog emt= gesl sevm &1 yan e s )

@eh (R) : T a4 % HRO F woE # wE gSIiaal Hae "EET %6 GRE FeAT H 8, Tl
U ATel e il i STl FH 2dl 2 |

fau 1 fashedi § | W@ fasey &1 =997 Fifeu)

(1) (A) @R (R) ST T& T 991 (R), (A) ! ST FT 2 |

(2) (A) SY(R) S Fa& € fohg (R), (A) T =@ & el ¥ |
(3) (A) W@ § IR (R) TeTd 7 |

(4) (A) 7T € I (R) G B

Options:-

=1, Option ID :- 905,
=« 2, Option ID :- 906,
= 3, Option ID :- 907,
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= 4, Option ID :- 908,
Answer Given:- 1, Option ID : -905

Question ID:- 228

Which of the following is not an outer planet ?
(1) Uranus

(2) Neptune

(3) Mars

(4) Jupiter

frfafed § 9 %M @1 v o=l e 76 8 2

(1) FE

(2) AU
(3) HIA
(4) FeHfd
Options:-

=1, Option ID :- 909,
=« 2, Option ID :- 910,
= 3, Option ID :- 911,

= 4, Option ID :- 912,
Answer Given:- 3, Option ID : -911

Question ID:- 229

Consider the following statements regarding Lakshya Sen, one of the outstanding players in the
discipline of Badminton from India :

(a) He was awarded the Arjuna award in the year 2022

(b) He is the winner of Gold Medal (individual) in Commonwealth Games 2022
(c) He is the winner of Gold Medal (Team) in Commonwealth Games 2022
Choose the correct, statement/s from the codes given below :

(1)  only (a)

2) only (b) and (c)

3) only (a) and (b)

(
(
(4) only ()
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A % et Sefied faanfedi § § us, @ed 99 & day § fefafes s W faar wifsm)
(a) 3% T4 2022 H T TR Y a1 7= 4|
(b) 9% UgHed Ed, 2022 H @l yes (=fera waui) fasa €1
(c) |8 gHed ©d, 2022 F Woines (2m) fasmr €
e feu 1T Fe ¥ WEl wUA/FHAA H1 T HifT |

(1) e (a)

(2) e (b) 3 (c)
(3) e (a) 3R (b)
(4) 9 (c)
Options:-

=1, Option ID :- 913,
= 2, Option ID :- 914,
= 3, Option ID :- 915,

= 4, Option ID :- 916,
Answer Given:- 3, Option ID : -915

Question ID:- 230
Consider the following statement/s regarding Asian Pacific Postal Union (APPU) which has its
headquarter in Bankok, Thailand.

(a) An Indian has taken the charge of Secretary General of APPU for a tenure of four years,
starting January 2023.

(b)  This is only the second occasion when an Indian is leading an International organisation in
the postal sector.

Choose the correct option from the codes below :
(1) Only (a) is correct

(2) Only (b) is correct

(3) Both (a) and (b) are correct

(4) Neither (a) nor (b) is correct

uferr Ufafes diee 999 (APPU), fSaeh qene dehie, giscie | €, o §a4 § Ffafad w2 ®
feam ST |

(a) SEd, 2023 § UH WRAE 7 IR F691 % fAw APPU o Hemfaa sl wrivR Hyret 2|

(b) &% e THU HIhl € 59 hls YRATI IR ot H Sa e &l 99 L @l ¢ |

e o T e  wE fashey w1 = i)

(1) 9 (a) G T

2) ad (b) TEl Tl

3)  (a) ¥R (b) 3AT TE T

4)  (a) 3R (b) I H I B T T T

(
(
(

Options:-
=1, Option ID :- 917,
= 2, Option ID :- 918,
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=« 3, Option ID :- 919,

= 4, Option ID :- 920,
Answer Given:- 3, Option ID : -919

Subject : RA _Q51-Q70_TGTWE

Question ID:- 231

Choose the missing letter cluster in the given series that follows the same logic.

CAP, EEN, IMJ, KQH, MUF
(1) GHK

(2) GIL

(3) HIK

(4) HGL

1 & e SfEen H 39 &R HYE H I hirew 5 SH d H STTH I B |

CAP, EEN, IM]J, KQH, MUF
(1) GHK

(2) GIL

(3) HIK

(4) HGL
Options:-

=1, Option ID :- 921,
= 2, Option ID :- 922,
» 3, Option ID :- 923,

= 4, Option ID :- 924,
Answer Given:- 2, Option ID : -922

Question ID:- 232

A, B, C, D, E, F and G are the names of two gases, three solids and two liquids. B, G and D are not
solid. E and F are not gases. C is solid but A is liquid. B, F and G are not liquid. Which are the
three solids ?

(1) A GE
) AGCF
3) C,EF
4 EFG

2 ] S iR S g weiedf % 9 A, B,C, D, E, F ARG €18, G 3t D 29 &1 § 1 E 2R F g 71 &1
CIATR U] Aga ¥1B,F ARG ga =&l €1 7 S5 vened i A 72

(1) AGE
(2) A,CF
(3) C,EF
(4 EFEG
Options:-

=1, Option ID :- 925,
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=« 2, Option ID :- 926,
» 3, Option ID :- 927,

= 4, Option ID :- 928,
Answer Given:- 3, Option ID : -927

Question ID:- 233

A 5 item menu for lunch is to be decided from amongst five dishes P, Q, R, Sand T and four
beverages W, X, Y and Z on the following conditions :

i) P and Z here to be together

.

i) W cannot be put with Y

S

ey

(
(
(iii) S and X cannot be selected together
(
(

iv) R and T have to be together
v

—

Y cannot be selected with Q

If two of the items have to be dishes what will be the lunch menu ?
(1) PQWXZ

(2) PSXYZ
3) QSXZY
) RTWXZ

Yig =9l P, Q, R, S SR T den =’ 99 ugredf W, X, Y 3R Z # & Sraex % oo & forw 5 agedf & forg
frefafes waf w fokr fom s e

(i) P ez usay it

(i) WY % |9 TRl Tl S Hefiell @

(iii) S X T THETY TE T S TRl &

(iv) R 3iR T wswany 2t =ifen

(v) Y QF WYy TE AT S kel §

7fg & oqu =HsH B Sr9et & s @ H=g A R ?
() PQWXZ

(2y PSXYZ

(3) QSXZY

(4 RTWXZ
Options:-

=1, Option ID :- 929,
= 2, Option ID :- 930,
=« 3, Option ID :- 931,

= 4, Option ID :- 932,
Answer Given:- 1, Option ID : -929

Question ID:- 234
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A courier boy has to deliver six articles A, B, C, D, E and F. A is heavier than B. C and D are of

same weight. E is the lightest. T is heavier than A but lighter than D. Which article is the second
heaviest ?

M E
2 A
(3) B
4 D

T& FHFR a1 %1 A, B, C, D, E 3R F A% 6 I 31l 1 foaiu &3 81 A, B9 31feeh a9-aR € 1C 3R D
1 g5 THTAH ¢ | E %1 99 G99 FH 81 F, A 9 31 aoier € fhg D ¥ 9 oo9er 81 34 O 9
ol e A SRR € 2

() F
(2 A
(3) B
(4 D
Options:-

=1, Option ID :- 933,
» 2, Option ID :- 934,
»« 3, Option ID :- 935,

= 4, Option ID :- 936,
Answer Given:- 1, Option ID : -933

Question ID:- 235

A is the mother of B and C is the son of D. D is the husband of A. B is the sister of C. How is C
related to A ?

(1) Brother

(2) Son
(3) Father
(4) Uncle

ABHRIAMEACDHFGALID, AH Ufd 1B, Cohl &&7 &1 CH A Y P Ha9 g 7
(1) e

(2 9

(3) T

(4) ==
Options:-

=1, Option ID :- 937,
= 2, Option ID :- 938,
= 3, Option ID :- 939,

= 4, Option ID :- 940,
Answer Given:- 2, Option ID : -938
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Question ID:- 236

Ram, Sheela, Karim and Raju are playing carrom board game. ‘Ram and Karim” and ‘Sheela and
Raju’ are partners. Raju is sitting to the right of Karim. The face of Karim is towards East. Find
the direction that Sheela is faf:ing.

(1) North
(2) East
(3) West
(4) South

T, Yite, O 3R TS FaErE 9 T W E | T iR w0 qen oo R I e €1 T, 0y
% AT SN 931 €1 W A HE d w1 iR 8| e o ge o fam § 22

() S
2
(3) 4=
(4) =fam
Options:-

=1, Option ID :- 941,
= 2, Option ID :- 942,
= 3, Option ID :- 943,

= 4, Option ID :- 944,
Answer Given:- 3, Option ID : -943

Question ID:- 237

The question has a statement followed by two courses of action numbered (I) and (IT). It is assumed
that everything in a statement is true, then decide which of the given courses of action logically
follow(s) for pursuing ?

Statement : Deficiency diseases in early childhood years have life-long effect on a person’s
health.
Courses of Action : (I) Pregnantladies and mothers of young children should be made aware

of balanced diet.

(IT)  Fast food outlet should be banned near and around primary schools.

(1) Only (I) follows

(2) Only (II) follows

(3) Both (I) and (II) follow

(4) Neither (I) nor (II) follows
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== weA H Uk A T wan § ek e <1 shrdarsan (1) iR (1) <1 718 € | =g 21e W fomn i fof ahem ot
Yo o1 TE & 1 77 Fofg wifs foe <90 sidardl § 9 9 4 #ier aifthe 9 9 @ S weRdt /87

wHUT ;S SrearaR] ¥ wE § 3e= AT o safad o e I S 9T quTe @l |
wREE - (1) : et Afeensti R Fa "Rl 1 Arast] e SRR % R H §aE S =@ieg |
HUETE - (1) : e e % e B FE Hi gHH o1 yiasfea w1 fem s =t
(1) ae (I) Fi 5 Tl ©

(2) HEA (II) F ST ekl §

(3)  (T) 3R (I1) T 1 T Fehell &

(4) B H W HE o FIEE T S W ©
Options:-

=1, Option ID :- 945,
= 2, Option ID :- 946,
=« 3, Option ID :- 947,

= 4, Option ID :- 948,
Answer Given:- 1, Option ID : -945

Question ID:- 238

In a certain code language "AWAKEN" is written as 'CZCNGQ’ then how will ‘KITTEN" be written
in that language ?

(1) NKVVGP
(2) MKWVGQ
(3) MLVWGQ
(4) NLWVGQ

Ife TH Fe 99 H ‘AWAKEN' &l ‘CZCNGQ' & &9 H forar sar g df 34t v § ‘KITTEN =i |
e feran smam ?

(1) NKVVGP
(2) MKWVGQ
(3) MLVWGQ
(4) NLWVGQ
Options:-

=1, Option ID :- 949,
=« 2, Option ID :- 950,
=« 3, Option ID :- 951,

= 4, Option ID :- 952,
Answer Given:- 3, Option ID : -951

Question ID:- 239
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If ‘M &N means ‘N is husband of M’, ‘M A N" means ‘M is father of ‘N, and ‘M % N’ means ‘M is
son of N’, then how is A related to D in the given statement. A % B CAD?

(1) Son

(2) Father
(3) Brother
(4) Uncle

Ife MeN F AG B fF ‘N, ‘M Fafd &, ‘M A N’ &1 299 & foF ‘M, ‘N7 &1 Taar & 991'M % N’ o1 379
AfE M, NFEE ARCTWFHA%BECADHE ‘A’ F D' J FN Ty 22
(1) 9

(2) foar
(3)
(4) ==
Options:-

=1, Option ID :- 953,
= 2, Option ID :- 954,
= 3, Option ID :- 955,

= 4, Option ID :- 956,
Answer Given:- 3, Option ID : -955

Question ID:- 240

The question is given below followed by two statements (I) and (II), each containing some
information. Decide which of the statements is/are sufficient to answer the question.

Which item amongst U, V, W, X -and Y is the heaviest ?
Statements (I) : U is heavier than V but Y is not the heaviest.
Statements (II) : W is heavier than U but X is not the heaviest.
(1) The statement (I) alone is sufficient to answer the question,
(2) The statement (II) alone is sufficient to answer the question.
(3)

(

4)  Both the statements (I) and (II) together are not sufficient to answer the question.

Both the statements (I) and (II) together are necessary to answer the question.

== wek e femn e & e A €1 e (1) @R (1) fow e € R veiss H Fe See & T 21 Fof
HIfST T i AVE FU7 U9 1 S 4 &+ forg v &/ 2

U, V, W, X SR Y & & %7 &t a5 e 31fersh o= & 2

HU (1) : U, V ¥ i aeer & fohg Y 9ad s1fiss aser =8 €1
HY (1) : W, U § siferes asieR ® fohg X 5o s1fyeh aeier =&f 2|
(1) R (I) 2Thet W 1 3T o1 o foe 9o @

2) HYUA (II) Fhe! Y HT IA o1 o faQ v

3)  HYF (I) 3R (1) THAY, Y 1 M a4 o AU AE99e ¢

(
(
(4)  THYA (1) SR (11) THAE, 99 H1 SR 29 F fau waie 748 €
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Options:-
=1, Option ID :- 957,
= 2, Option ID :- 958,
=« 3, Option ID :- 959,

= 4, Option ID :- 960,
Answer Given:- 3, Option ID : -959

Question ID:- 241

Three statements are followed by two conclusions numbered (I) and (II). Find out which
conclusion(s) is/are true based on the given statements.

Statements : P<B
G=T=P
Q=8B

Conclusions : (I) G<P

(1) Q>P

(1) Only (1) is true

(2) Only (H) is true

(3) Both (I) and (II) are true

(4) Neither (I) nor (II) is true

T el % e | freed (1) @i () T 81 9@ e o fer e sl 3 smeR W e |rA e
& 87

HAT ; P<B
G=T=<P
Q=B
fFerd: () G<P
(I) Q>P
(1) aa (I) T §
(2) HEE (I0) W& &
(3) (1) i @D S =
(4) < | H I o FE 6§
Options:-

=1, Option ID :- 961,
= 2, Option ID :- 962,
=« 3, Option ID :- 963,

= 4, Option ID :- 964,
Answer Given:- 2, Option ID : -962

Question ID:- 242
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Six girls M, N, S, R, P and T are sitting around the corners of a hexagonal table facing towards the

cenfre. "M’ is not sitting adjacent to N or S, R is not sitting adjacent to S or P, N and S are adjacent.
T is in the middle of R and S. Who is sitting opposite to P ?

(1) M
2) N
3) R
4 T

g AefFAl M, N, S, R, P 2R T U UgyTHR B9 % AR % 9Ri 4R 39% %= #1 2% 5 #3F 931 g8
F1M, N 1e 'S’ % [Hig T Sdt §; R, ‘S’ 1961 ‘P % GHIY 7 991 §; N 2R S UH-gEl F HHig
F1T, R A91’S' == § 81 ‘P & | % 94231 & 2

(1) M
(2) N
3) R
(4) T
Options:-

=1, Option ID :- 965,
= 2, Option ID :- 966,
=« 3, Option ID :- 967,

= 4, Option ID :- 968,
Answer Given:- 4, Option ID : -968

Question ID:- 243

Two statements are given below and they are labelled as Assertion (A) and Reason (R).
Assertion (A) : Curriculum is designed according to age of the child.

Reason (R) : Readiness to learn depends on the development of child.

Select the correct answer with the help of code.

(1) Both (A) and (R) are true and (R) is correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)  (A)is true but (R) is false

(4) (A) is false but (R) is true

== &1 oA fou Tu g 5 Al (A) de 9o (R) T fean =0 &)
AR (A) :  TSTHA T Y F STTER I S E |
Weh (R) : HI@H i qoI aneish o faee o v st 71
%2 1 HeHd § W@ I A

(1) (A) 3R (R), T T 9901 (R), (A) F1 TE =78 §

(2) (A) T (R), A T € R (R), (A) ) T =we & &
(3) (A) Wl € fohg (R) Tt &

(4) (A) Tera € fohg (R) wEt @

Options:-
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=1, Option ID :- 969,
= 2, Option ID :- 970,
« 3, Option ID :- 971,

= 4, Option ID :- 972,
Answer Given:- 1, Option ID : -969

Question ID:- 244

From the given alternative words, select the word which cannot be formed using the letters of the
given word.

AUTOMATION
(1) OUTING
(2) MOTION
(3) TOMATO
(4 MOON

= feu U famedi 6 | 39 I8 &1 97F Fifaw 59 fou U g & 31eR o W Feh el ST S Haedr
7

AUTOMATION
(1) OUTING
(2) MOTION
(3) TOMATO
(4) MOON
Options:-

=1, Option ID :- 973,
= 2, Option ID :- 974,
= 3, Option ID :- 975,

= 4, Option ID :- 976,
Answer Given:- 1, Option ID : -973

Question ID:- 245

Seven teachers A, B, C, D, E, F and G attended seminars on seven different days of the week
starting from Sunday but not necessarily in the same order. Five teachers attend seminar between
E and A who attend the seminar on the days starting with ‘S’. ‘G’ attends the seminar after ‘F’ but
before ‘D’. There are as many teachers attending the seminar before ‘B’ as after ‘C’, ‘A’ doesn’t
attend the seminar on Sunday. Who attends the seminar on Thursday ?

(1) B

(2)
(3)
(4)

=g 0
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A &4 A, B, C, D, E, F 3R G oaR 9§ Y& B 91el U8 & | 37er-3an fadi W, fohg 56t 9 4
&, AR F 9T o € | 91 ST E ST AY & g AR 9T ord © 91 °S’ § IE B At fed SfieR
H 9T Ed 8 1'G,F & a1 fohg ‘D’ 9 vgel AR § 911 ofdl € | ‘B’ § Ugcl 3a- &1 STEATIsh S | 9rT
o € foraa 5 ‘¢ % A v era # 10 A F ear 1 AR F o 6 foran | e @ AfmEr § R am
foran 2

(1) B
(2) C
(3) D
(4) F
Options:-

=1, Option ID :- 977,
= 2, Option ID :- 978,
= 3, Option ID :- 979,

= 4, Option ID :- 980,
Answer Given:- 2, Option ID : -978

Question ID:- 246

A group of alphabet are given, with each being assigned a number. Select the combination of
numbers so that the letters arranged accordingly will form a meaningful word.

A L R u N
1 2 3 4 5

(1) 3,21,54
(2 5,2341
3) 2,451,3
(4) 4,1,3,5,2

= guif &1 w ge fom e € o @ g avi % fau v siew fuifa fomn mn 81 3u den g w
T IS difeh IF STTER Hafeerd T 70 il § Uk Hiefe 9ee S S He |

A L R U N

1 2 3 4 5

() 3,21, 5,4
(2) 5,23 4,1
(3) 2,451,3
(4 4,1,35,2
Options:-

=1, Option ID :- 981,
» 2, Option ID :- 982,
» 3, Option ID :- 983,

= 4, Option ID :- 984,
Answer Given:- 3, Option ID : -983

Question ID:- 247
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The question has two statements followed by two conclusions numbered (I) and (II). You have to
consider the statements to be true even if they seem to be at variance from commonly known facts
and decide which of the given conclusions logically follow(s) from the given statements.

Statements : Some poems are songs
All songs are melody
Conclusions : (I) Some poems are melody
(II) Some melodies are songs

(1)  Only conclusion (I) follows
(2) Only conclusion (II) follows
(3) Either conclusion (I) or (II) follows
(4) Both conclusions (I) and (II) follow

= &1 we for o & foawds =g S e (1) sfiz (1) few e € 1 sroent =8 v R o fRw 7 e vt € =
d HHEIE: Fd a2t 9 Ty & 4 7 811 ere e fol hifse T feu o st | | aifthes w9 @ %m wrd
Treepd Frereran/fFerea 2/ 2

HIT:  FS FHiFAW TH

Teft 7 T 1
frerd: (1) o *fgand fa )
(1)  Fo AT E)

(1) e Fresd (1) Frevemar &

(2) haa freRd (1) fAerear @

(3) TwRd (1) sveran (10) Freheran &
(4) fr=md (1) 3R (1) S Feherd @

S

Options:-

=1, Option ID :- 985,
= 2, Option ID :- 986,
=« 3, Option ID :- 987,

= 4, Option ID :- 988,
Answer Given:- 4, Option ID : -988

Question ID:- 248

If in a certain code language ‘fun is bad’ is written as ‘123" and ‘bad is wrong’ is written as ‘431’,
and ‘fun is wrong’ is written as ‘214" then what is the code for word ‘bad’ in this
language ?

1 1

(2 2
(3) 3
(4) 4
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=g fordt e 9T | “fun is bad’ 1 ‘123’ % &9 H fom@l S @ @i ‘bad is wrong’ Tl ‘431’ % €9 H 41
‘fun is wrong’ %l ‘214" & &Y H foran Sl € 1 39 9™ H ‘bad’ W o {70 71 % &2

(1) 1
(2) 2
(3) 3
(4 4

Options:-

=1, Option ID :- 989,
= 2, Option ID :- 990,
= 3, Option ID :- 991,

= 4, Option ID :- 992,
Answer Given:- 3, Option ID : -991

Question ID:- 249

In the following question two positions of a same dice are given. Find the number of dots at the
face opposite to the face having five dots.

® ® ®
o ¢ ° '..
@® & o @
@ &
() 1
2) 2
(3) 4
(4 6

frefafad wea § s vl = &1 feafaar € 0§ o= fag 9t wew % faudi a wers W faeget @
He&A 14 =i |

@ ® ®
o ¢ ® '..
® ® e @
@ @
(1) 1
(2) 2
(3) 4
49 6
Options:-

=1, Option ID :- 993,
» 2, Option ID :- 994,
» 3, Option ID :- 995,

= 4, Option ID :- 996,
Answer Given:- 1, Option ID : -993
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Question ID:- 250

Select the Venn diagram that best represents the relationship between the following set of classes.
Singers, Dancers, Musicians
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3 94 AN@ H FFF Hitog s FeAfafed sf & 998 % d" & ey 6l aiad 9 H g9l 2

Options:-

=1, Option ID :- 997,
= 2, Option ID :- 998,
= 3, Option ID :- 999,

= 4, Option ID :- 1000,
Answer Given:- 2, Option ID : -998

Subject : CL_Q71-Q80_TGTWE

Question ID:- 251

A smaller version of an image is known as :
(1) Clipart

(2) Portable network graphic

(3) Thumbnail
(
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Options:-

=1, Option ID :- 1001,

= 2, Option ID :- 1002,

= 3, Option ID :- 1003,

= 4, Option ID :- 1004,
Answer Given:- 4, Option ID : -1004

@
NIEW

Question ID:- 252

The term morphing with respect to animation means :
(I) Changing position within a screen

(2) Changing color of an image

(3) Changing shape gradually from one to another
(

4) Changing effects and tints of an image

YA % "oy § At ug %7 @1 §

(1) Bk T feafq sem

(2) Tordl 3HST % Her & a5l

(3) AERR (39) Rl Y & Tk H L H T
(4) Todt 399 & ghae &R foe =1 agam

Options:-

=1, Option ID :- 1005,
= 2, Option ID :- 1006,
= 3, Option ID :- 1007,

= 4, Option ID :- 1008,
Answer Given:- 3, Option ID : -1007

Question ID:- 253

Which of the following is an example of an audio file ?
(1) music.png

(2) music.avi

(3) music.mp3

(4) music.gif

Frefafad § @ #i | Aifed w5 1 T T|E 8?2
(1) music.png

(2) music.avi

(3) music.mp3

(4) music.gif
Options:-

=1, Option ID :- 1009,
» 2, Option ID :- 1010,
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=« 3, Option ID :- 1011,

= 4, Option ID :- 1012,
Answer Given:- 3, Option ID : -1011

@
NIEW

Question ID:- 254

Which of the following is the correct sequence ?
(1) 25KB>12 MB > 10 GB > 20 PB

(2) 20TB>10GB > 12 MB > 25 KB
(3) 10GB>12MB > 20 TB > 25 KB
(4) 10PB>10GB>10TB > 10 MB
Frefefad 5 @ % |1 %9 wEl 8 ?
(1) 25KB>12 MB > 10 GB > 20 PB
2) 20TB>10GB >12 MB > 25 KB

(
(3) 10GB>12MB>20TB> 25 KB
(49 10PB>10GB>10TB > 10 MB

Options:-

=1, Option ID :- 1013,
= 2, Option ID :- 1014,
= 3, Option ID :- 1015,

= 4, Option ID :- 1016,
Answer Given:- 2, Option ID : -1014

Question ID:- 255

Which of the following software cannot be used to play audio files ?
(1) VLC media player
2) Windows media player
3) Kodi media center
4) GIMP

(
(
(
TefafEd 5 9§ ®F 9 Qireas) o1 YAr SAifedl WEa & Farq § 81 T S ekl € ?
(1) = e | Hifew ==

(2) TaS= difedn o

(3) ehrel Hifean =X

(4) St 3 TG

Options:-

=1, Option ID :- 1017,
= 2, Option ID :- 1018,
= 3, Option ID :- 1019,

= 4, Option ID :- 1020,
Answer Given:- 4, Option ID : -1020
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Question ID:- 256

What is the alternative name for a monitor ?

(1) CPU
(2) VDE
(3) VDU
(4 VDO
2T &1 Sehfeqs 77 =1 & ?

(1) &t bt g (CPU)
(2) @t €3 (VDE)
(3) @i g (VDU)
(4) @ €l & (VDO)

1
2

Options:-

»1, Option ID :- 1021,
= 2, Option ID :- 1022,
=« 3, Option ID :- 1023,

= 4, Option ID :- 1024,
Answer Given:- 3, Option ID : -1023

Response Sheet

@
NIEW

Question ID:- 257

Which of the fo]]owing is a storage device ?
(1) Hard disk

(2) VDU
(3) CU
(4) Speaker
frefafad 9§ 9 a1 tF ERS fearyg 2
(1) wrEfewn
(2) #EY
(3 w37
(4) R
Options:-

=1, Option ID :- 1025,
=« 2, Option ID :- 1026,
=« 3, Option ID :- 1027,

= 4, Option ID :- 1028,
Answer Given:- 1, Option ID : -1025

Question ID:- 258
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Which of the following is called the brain of the computer ?
(1) CU

(2) VDU
(3) CPU
4) ALU

Trefafad 5 § foFa FFge o1 afesh el o @ ?
() #F(CU)

(2) @ &g (VDU)

(3) E df g (CPU)

(4) TTA F (ALU)

Options:-

=1, Option ID :- 1029,
=« 2, Option ID :- 1030,
= 3, Option ID :- 1031,

= 4, Option ID :- 1032,
Answer Given:- 3, Option ID : -1031

@
NIEW

Question ID:- 259

Which of the following is not an input device ?
(1) Touchpad

(2) Sensors

(3) Microphone
(4)

4) Projector

Frefafaa § § =0 v 92 feary 70 272

(1) =z=us

(2) HE

(3) HISHITA

(4) USERT
Options:-

=1, Option ID :- 1033,
= 2, Option ID :- 1034,
= 3, Option ID :- 1035,

= 4, Option ID :- 1036,
Answer Given:- 4, Option ID : -1036

Question ID:- 260
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Which of the following statement is correct with respect to CPU ?

(1) It controls all other parts of the computer.

(2) Itis controlled by the CU and instructs output and input devices.
(3) It is the unit that stores instructions, data and intermediate results.
(

4) Itis a part of the ALU that carries out arithmetic and logic operations.

o 9 g % i | Frefafad § 9 & 91 wuF w8 82

(1) I8 FFT o 3= Fefi 9l =l FEfaa e 81

(2) =% O 7 ) Frfa 2 @ iR enseqe qun wiqe fearedi 1 orefia e €1
(3) % 9% THTE © SN SR, TR 3R gevHifeus uftumsl s WK w7 |

(4) I8 WUSA Y I Ueh 9 2 it fvifad iR arfeher sl o1 e 21

Options:-

=1, Option ID :- 1037,
=« 2, Option ID :- 1038,
= 3, Option ID :- 1039,

= 4, Option ID :- 1040,
Answer Given:- 1, Option ID : -1037

Subject : WE_Q81-Q180_TGTWE

Question ID:- 261

When a semiconductor is doped with a p-type impurity, each impurity atom will :
(I) Acquire negative charge
(2)  Acquire positive charge
(3) Remain electrically neutral
(

)
4) Give away one electron

e fordt STgaIea Sl p-UEY i YEd H S (Fifea) fen st 2 @ 39 weasy yods TS
YIHT ©

3) fourda gfe @ ey @
4) TF geige @l fawfia wmam

Options:-

=1, Option ID :- 1041,
=« 2, Option ID :- 1042,
=« 3, Option ID :- 1043,

= 4, Option ID :- 1044,
Answer Given:- 2, Option ID : -1042

Question ID:- 262
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Drift current in a p-n junction is influenced by :
1)  Applied voltage
2) Concentration

’J’
4) None of these

—

Concentration gTadient

(
(
(
(

p-n (HATHR-FMHF ) HY § ervarg ur freiferd H & fored genfad gt € 2

(1)  SFTTHR Fes

(2) Higw

(3)  HIZUl HATE

(4) Sww H 9 FE T
Options:-

=1, Option ID :- 1045,
= 2, Option ID :- 1046,
=« 3, Option ID :- 1047,

= 4, Option ID :- 1048,
Answer Given:- 1, Option ID : -1045

Question ID:- 263

In the depletion region of a p-n junction :

p-side is positively charged n-side is negatively charged.

There is hole concentration on the n-side and electron concentration on the p-side.
3) n-side is positively charged and p-side is negatively charged.

4)  None of these.

AT RIS, 4y o s &3 | -

(1) p-9Ted SR B0 2 | n-91ed SBUnE e 2 8 |

(2) n-ured H ol wigw gRn ¥ Sl seiaiT w1 Hengm p-ured H g ¥
(3) n-UIvd HAETE B § SR p-ured HumafiE g g1

(4) TTH HHRE T

Options:-

=1, Option ID :- 1049,
=« 2, Option ID :- 1050,
= 3, Option ID :- 1051,

= 4, Option ID :- 1052,
Answer Given:- 1, Option ID : -1049

Question ID:- 264
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In the energy band diagram of a p-type semiconductor :

1)  The acceptor band is near the conduction band.

—

2)  The acceptor band is near the valence band.

The denor band is near the conduction band.

—

(
(
(3
(

4)  The donor band is near the valence band.

p-TEY % HAGAF & Foll A w@as q
(1) 7es S e S8 % g9y e |
(2) TEF ST WA ST % gHiY g g
(3) < ST A ST F Ty @ g
(4) =ral e WA S % WHY Ea ¥
Options:-

=1, Option ID :- 1053,

= 2, Option ID :- 1054,

=« 3, Option ID :- 1055,

= 4, Option ID :- 1056,
Answer Given:- 2, Option ID : -1054

Question ID:- 265
Unidirectional property of p-n junction diode is used as :
(1)  Amplifier
(2) Oscillator
(3) Transistor
(4)  Rectifier
YATCHE—SRUTICHe § 1Y TS o1 Tehfeuia Tured freifera H 9 o &9 § wga 2 g ?
(1) HAEeHh (TFEHER) & &9 H

(2) Wo®®HEIH

(3) eifeet s w1 H

(4) Tewwrt & w9 H
Options:-

=1, Option ID :- 1057,
=« 2, Option ID :- 1058,
« 3, Option ID :- 1059,

= 4, Option ID :- 1060,
Answer Given:- 4, Option ID : -1060

Question ID:- 266
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Two Silicon diodes are used in the circuit shown

I
R R=5kQ
15 V= D,
- _X D2

Calculate the diode current Iy (Vi =V, =0.7V) :
(I) 3 mA

(2) 286 mA
(3) 272 mA
(4) 3.4 mA

14 gwitu Tu iy § 2 fafeaes em@re 1 v faa )

I -
D R=5kQ
1B5V= D,
AL D2

fqu e uftay # SErE 9/ - %1 9REAT RIS (V= Vo =0.7V)
(1) 3 mA

(2) 2.86 mA
(3) 272 mA
(4) 314 mA
Options:-

=1, Option ID :- 1061,
= 2, Option ID :- 1062,
=« 3, Option ID :- 1063,

=« 4, Option ID :- 1064,
Answer Given:- 3, Option ID : -1063

@
NIEW

Question ID:- 267
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The negative shunt clipper has a +5 V input and is to produce a +4.0V minimum output when
the load current is 2mA. Determine a suitable resistance for R

Input
RL O‘U’.tp ut
Input
-5V

(1) 25k
2) 2kQ

(3) 45 kQ
(4) 500 Q

HUTcH v fFaq § +5V a9 € 3R 9iftd 9/ 2 mA B T 36Y =9 +4.0V =1 fri9 3o0= 21 2 a1 R
1 39w gfaay fuifta ifs

By b
Input @ -
i R; Output
Input D1
-5V o

(1) 25 kQ
(2) 2kQ
(3) 4.5 kQ
(4) 500 Q
Options:-

=1, Option ID :- 1065,
= 2, Option ID :- 1066,
= 3, Option ID :- 1067,

= 4, Option ID :- 1068,
Answer Given:- 4, Option ID : -1068

Question ID:- 268

In a Zener diode :
(I) Both p and n regions are heavily doped.
(2) Both p and n regions are lightly doped.

(3)  Only the n region is heavily doped.

(

4)  Only the p region is heavily doped.
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fordt S e § -

(1) o S AT SFI & 9ga Sk TIfed 2 2 |

(2) = SR WU SHI & ook 9 H Hifed B €|

(3) e HOMEIA &3 Jgd $Afus Hifed e 8|

(4) Haet yAEfe &3 Sga sifere wifed B B

Options:-

=1, Option ID :- 1069,
=« 2, Option ID :- 1070,
« 3, Option ID :- 1071,

= 4, Option ID :- 1072,
Answer Given:- 3, Option ID : -1071

@
NIEW

Question ID:- 269

The light emitting diode (LED) :
(1)  Is usually made from silicon,
(2) Uses a reverse biased junction.
(3) Gives a light output which increases with increase in temperature.
(4)

Depends on the recombination of holes and electrons.

eIl e (TA.3El) -

(1) S faferepa & == g g

(2) T FoRd A Gy g a1 ©

(3) 3HY Yk w1 Fie g € IR ATy Ten W A8 98d ©
(4) % fogesl iR sl & TiasH W Fel & g1

Options:-

=1, Option ID :- 1073,
= 2, Option ID :- 1074,
= 3, Option ID :- 1075,

= 4, Option ID :- 1076,
Answer Given:- 3, Option ID : -1075

Question ID:- 270

The capacitance of a reverse biased P-N junction :

1) Increases as the reverse bias is decreased.

'J’

—

(

(2) Increases as the reverse bias is increased.
(2 Is independent of the reverse bias voltage.
(

4) Depends mainly on the reverse saturation current.
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e AV e BT | sl G-
(1) Aohfaa A % T2 T agdl &
(2) =ehod s1fea o gfg 8H W 9t §
(3) I ehiad AfTeq dieed i HIE J9E T uedl ¥
(4) HEAd: FohHd Hga ¥ 9 AR et 8

Options:-

=1, Option ID :- 1077,
=« 2, Option ID :- 1078,
= 3, Option ID :- 1079,

= 4, Option ID :- 1080,
Answer Given:- 2, Option ID : -1078

Question ID:- 271

A p-n photodiode is made of a material with a bandgap of 2 eV. The minimum frequency of the

radiation that can be absorbed by the material is nearly :
(h=6.63 X107%Js,1 eV = 16 X 10~ 197} :
(1) 1x10™ Hz

(2) 20x10'* Hz

(3) 5x10 Hz

(4) 10x10' Hz

yAEf A W erEE (TEm-Sre) TH ver w1 5 gl € e 2 eV 1 e -siae den ¥
=9 Uered g1 Sraeifud g At fafeo i =maw srafa et fehaet 2 2

(h=6.63 X103 Js, 1eV. = 1.6 x 10~197])
1x10 Hz
20 x10'* Hz
3) 5x10% Hz
4) 10x10'" Hz

Options:-

=1, Option ID :- 1081,
= 2, Option ID :- 1082,
=« 3, Option ID :- 1083,

=« 4, Option ID :- 1084,
Answer Given:- 3, Option ID : -1083

Question ID:- 272
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Intrinsic carrier concentration of a given semiconductor depends on :
(1) Band gap
(2) Temperature
(3) Both Band gap and temperature
(4) None of these

fordt fau T s1e-=rereh 1 sidfia (eTHd) s Heayl it H 9§ form w fAeft wear g2

(1) wE-3=a
(2) dEY
(3) Se-afauet I qIEH S
(4) T HHE T
Options:-

=1, Option ID :- 1085,
= 2, Option ID :- 1086,
=« 3, Option ID :- 1087,

= 4, Option ID :- 1088,
Answer Given:- 2, Option ID : -1086

Question ID:- 273

In a p-n junction having depletion layer of thickness 10~ °m, the potential difference across it is
0.1 V. The electric field is :

(1) 107 V/m

(2) 107®V/m

(3) 10°V/m

(4) 107°V/m

10m TEd] AT A& h1 T o HAEY-Ronay §iY H fFvaErat 0.1 See B d G5 A6
(1) 107 V/m

(2) 107®V/m

(3) 10° V/m

(4 107°V/m
Options:-

=1, Option ID :- 1089,
= 2, Option ID :- 1090,
=« 3, Option ID :- 1091,

» 4, Option ID :- 1092,
Answer Given:- 3, Option ID : -1091

Question ID:- 274
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The circuit is equivalent to :

(
(2) 3R =

(3) THH-FHLHAR. T
(4) TALTAE. T

Options:-

=1, Option ID :- 1093,
=« 2, Option ID :- 1094,
=« 3, Option ID :- 1095,
= 4, Option ID :- 1096,

Response Sheet

A
B
(1) NOR gate
(2) OR gate
(3) EX-OR gate
(4 NAND gate
qftay fifed § 9§ e gaged
A
B
1) TSR T

Answer Given:- 1, Option ID : -1093

—teer

@
NIEW

Question ID:- 275
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Given the truth table relating Y to A, B

A B Y
0 0 1
0 1 1
1 0 1
i 1 0

Then Y is given by :

(1) A+B
(2) AB

(3 A+B
49 A.B

Y % A, B ¥ Heg FId g HoIHE GRON & T T

A B Y
0 0 1
0 1 1
1 0 1
1 1 0
a1 Y =1 v Feifera 6 9 forgd g grm 2
(1) A+B
(2) AB
(3) A +B
(49 A B
Options:-

=1, Option ID :- 1097,
= 2, Option ID :- 1098,
=« 3, Option ID :- 1099,

= 4, Option ID :- 1100,
Answer Given:- 4, Option ID : -1100

Response Sheet

@
NIEW

Question ID:- 276
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A CRO cannot be used for the measurement of :
1) Voltage

2) Caurrent

3) Power

4)  Frequency

CRO =1 w47 f=ifera § 9 forder A9+ & fag 987 foran s g 8 2
(1) dreed

(2) ™
(3) fae
(4) @mfa
Options:-

=1, Option ID :- 1101,
= 2, Option ID :- 1102,
= 3, Option ID :- 1103,

= 4, Option ID :- 1104,
Answer Given:- 3, Option ID : -1103

@
NIEW

Question ID:- 277

The main advantage of emitter follower is :
1) Voltage gain is less than unity.
2)  Qutput impedance is high and input impedance is low.

(
(
(3
(

—

Voltage gain is very high.

4)  Output impendance is low and input impedance is high.

IEHSIh ST ] J& A4 T ¢

(1) Td diceal qoaHs o w9 2l § 1

(2) 7 wanen 3= S § oiR e wenen =7 2t €
(3) WIS Sgd AfHeh gl 2|

(4) Tl yemen = 2t § SR fraer yamen sifies 2t 2 )

Options:-

=1, Option ID :- 1105,
= 2, Option ID :- 1106,
= 3, Option ID :- 1107,

= 4, Option ID :- 1108,
Answer Given:- 3, Option ID : -1107

Question ID:- 278
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given by :
() 2V
(2) 02V
(3 20V
(4 4V

(1) 2V
(2) 02V
3) 20V
4 4V

Options:-

=1, Option ID :- 1109,
= 2, Option ID :- 1110,
=« 3, Option ID :- 1111,

= 4, Option ID :- 1112,
Answer Given:- 2, Option ID : -1110

Response Sheet

The amplifier has a voltage gain of 20 dB. The input voltage is 20 mV. Then the output voltage is

ad® (TEATEER) B 20 dB i dieedl gt | FEw dieed 20 mv § @ Soae iy dreed g

@
NIEW

Question ID:- 279

The operation of JFET involves :
1) Flow of majority carriers.

(
(2) Flow of minority carriers.
(
(

)
4) Negative resistance region.

JFET % = § S g e
(1) WEHETF qEh] F YE
(2) SICIHEAF TR F TGR

(3) TREHEF AR ACTHEAF Sl ATeeh! 1 Y8
(4) SEUTEHS Ffady &=

Options:-

=1, Option ID :- 1113,

=« 2, Option ID :- 1114,

» 3, Option ID :- 1115,

=« 4, Option ID :- 1116,
Answer Given:- 1, Option ID : -1113

Flow of both majority and minority carriers.

Question ID:- 280
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The potential divider method of biasing is used in amplifiers to :
1) Make the operating point almost independent of Beta.

2) To geta faithful amplification of input signal.

3

—

To avoid thermal run away.

(
(
(
(

4) To reduce the collector current.

vaeis § Al &1 fava favufwesna fafa = v feg 2w 9 fFa s g 2
(1) v=ne fag =l dfe § @ fufga a9 & fag

(2) Trow-Herad &1 SAUTEd HaEH UE H & fag
(3) a9 = sferiEa % ufEr ¥

(4) HUEFE °R H W & fou

Options:-

=1, Option ID :- 1117,

= 2, Option ID :- 1118,

=« 3, Option ID :- 1119,

= 4, Option ID :- 1120,
Answer Given:- 1, Option ID : -1117

@
NIEW

Question ID:- 281

An opto coupler combines :

(1) A LED and a diode.

(2) A LED and a transistor.

(3) A LED and a photo detector.
(

4) A LED and a photo transistor.

THETHF (sitefwuer) H freifea § 9 foraes sy 2 e ?
(1) TH AL 3w e

(2) U TA.EEl. IR Tk iferet

(3) TF TAZ.EN. 3R TH THEW qg=h (e feewn)
(4) UF TALEL AR TH W g

Options:-

=1, Option ID :- 1121,

=« 2, Option ID :- 1122,

=« 3, Option ID :- 1123,

= 4, Option ID :- 1124,
Answer Given:- 2, Option ID : -1122

Question ID:- 282
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Which of the following diodes can be used to rectify weak signals whose amplitudes are between
0.1 and 0.7 V?

(1) Zener diode

(2) Ordinary/Black diode
(3) Schottky diode

(4) Light emitting diode

gelel Hehdeh TSR M 0.1 $97 0.7 V & i i1 8, 38 3 A o forg Ftifera & & fopd erie =1
THRT o ST G € 2

(1) S EER

(2) HERWFS PR

(3) iewl BHE

(4) TERRIHST SRS
Options:-

=1, Option ID :- 1125,
= 2, Option ID :- 1126,
« 3, Option ID :- 1127,

= 4, Option ID :- 1128,
Answer Given:- 4, Option ID : -1128

Question ID:- 283

A transformer is used to light a 100 W and 110 V lamp from a 220 V mains. If the main current is

0.5A then efficiency of the transformer is approximately :

(1) 30%
(2) 90%
(3) 10%
4) 50%

220 e i g HI E 100 912 23R 110 Siee 3 oy Selr & fore ferdt e = gdm fmen snar € 1afg
T UM 0.5A § o SRR Y ermar o o &

(1) 30%

(2) 90%

(3) 10%

(4) 50%
Options:-

=1, Option ID :- 1129,
= 2, Option ID :- 1130,
= 3, Option ID :- 1131,
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= 4, Option ID :- 1132,
Answer Given:- 2, Option ID : -1130

@
NIEW

Question ID:- 284

Then :

(1) The power in the primary circuit is less than that in the secondary circuit.
(2) The current in two circuits are same.

(3) The voltage in the two circuits are same.

(4)

The primary current is six times the secondary current.

(1) wefeer aftaer %1 faga fdas uftay = fog@ =t germn o &9 gt &)
(2) < it | yenfed £ Sl ¥R UF 99HE B 8 )

(3) 2FI uftaedi i e g9 6 2

(4) wafHeR R fadaes ¥/ 9 weon sifue g g1

Options:-

»1, Option ID :- 1133,
= 2, Option ID :- 1134,
= 3, Option ID :- 1135,

= 4, Option ID :- 1136,
Answer Given:- 4, Option ID : -1136

The primary coil of an ideal transformer has 100 turns and the secondary coil has 600 turns.

ferdt atreel ZiEwiET & mafhs fega H 100 w0 8 i fgdi=s $eaa § 600 Fu e d s eam ¥ ¢

Question ID:- 285

In series LCR AC circuit, the voltage of the source at any instant is equal to :

1) The sum of the maximum voltage across the elements.

(
(2
(c
(

—

The voltage drop across the resistor.

'J’

—

The sum of the instantaneous voltages across the elements.

4) The sum of the rms voltages across the elements.

LCR Jead! R aiay e 8, fadl off o # @ra &t dieea -
(1) Tt s7eEi § siferay ieedr & 4 3 SUeR gt

(2) iy § Seed &9 & 9wl € |

(3) |t srEEEl H qrafures dieedl o A0 % SE Bl ¢ |
(4) T 979 H rms Sedl F A F GAF 26T T

Options:-
=1, Option ID :- 1137,
» 2, Option ID :- 1138,

=« 3, Option ID :- 1139,
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= 4, Option ID :- 1140,
Answer Given:- 3, Option ID : -1139

Question ID:- 286

Tunnel diode and Avalanche photodiode are operated in bias and bias
respectively.

(1) Reverse, reverse.

(2) Reverse, forward.

(3) Forward, reverse

(4) Forward, forward.

i erTe 3R 99 HEl SEE afiFfa 3R sfvAfa o yenfem 2 )
(1) =g=H, SchH

(2) ek, S

(3) STNTHHE, HohH

(4) E, SiEE
Options:-

=1, Option ID :- 1141,
= 2, Option ID :- 1142,
= 3, Option ID :- 1143,

= 4, Option ID :- 1144,
Answer Given:- 3, Option ID : -1143

Question ID:- 287

A ideal current source is ene whose internal resistance is :

(I) Very high
(2) Very low
(3) Zero

(4) Infinite

Y 91 Hid 9 B 2 e iafes wfaia g

(1) 3ifd 3=

(2) ofa =g

(3) TH

(4) eOifHd (3F)
Options:-

=1, Option ID :- 1145,
=« 2, Option ID :- 1146,

=« 3, Option ID :- 1147,
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= 4, Option ID :- 1148,
Answer Given:- 4, Option ID : -1148

Question ID:- 288

A device whose characteristics are very close to that of an ideal voltage source is a :

(1) Thermistor.

(2) Transistor in common base mode.
(3) Field effect transistor.

(4) Zener diode.

T 3UH (If6) Forant srfvenafies 1o eesl dicedl i ¥ agd fHafa-—Serd &, 98 @
(1) affex

(2) R s Hie § 2ifeen
(3) &RiE gvE gt
(4) SSETS

Options:-

=1, Option ID :- 1149,
= 2, Option ID :- 1150,
=« 3, Option ID :- 1151,

=« 4, Option ID :- 1152,
Answer Given:- 4, Option ID : -1152

Question ID:- 289

A constant current source supplies a current of 300 mA to a load of 2 k(). When the load is changed
to 200 Q, the load current will be :

(1) 3A
(2) 300 mA
(3) 30 mA

(4) 600 mA

ford Taa o B9 W 2 kQ F YR H 300 mA T YR YAIfEd I S € | 3HH U FEeTl 200 Q F FHI
T Y 9T G ER

(1) BA

(2) 300 mA
(3) 30 mA
(4) 600 mA
Options:-

»1, Option ID :- 1153,
» 2, Option ID :- 1154,
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= 3, Option ID :- 1155,

= 4, Option ID :- 1156,
Answer Given:- 2, Option ID : -1154

Question ID:- 290

Which of the following is an advantage of FM over AM ?
Less noise.

(1)
(2) Larger bandwidth.

(3) More circuit complexity.
(

4) Can be transmitted to longer distances.

AM =1 ga1 | FM fore gfe 9§ siferess enverrdt g2
(1) ST98TRRd H T
(2) FE Sefay
(3) 3TUeTFHd U9 i Hper (Sfeerdn) e

(4) = STUsTRq Ty 0 T wiKmd (ZiEfae) fran < wehar §

Options:-

=1, Option ID :- 1157,
=« 2, Option ID :- 1158,
= 3, Option ID :- 1159,

= 4, Option ID :- 1160,
Answer Given:- 2, Option ID : -1158

Question ID:- 291

In an amplitude modulated wave for audio frequency of 500 cycles/second, the appropriate carrier
frequency will be :

(1) 50 cycles/sec

(2) 100 cycles/sec

(3) 500 cycles/sec

(4) 50,000 cycles/sec

500 =5k 9fd WhE g7 afy o fo foret s wigfem @i °, 99y ares e gri -
(1) 50 = 9fd H$ve
(2) 100 = Ui Hehve
(3) 500 =% Ui HHvE
(4) 50,000 = 9fd Hkve

Options:-
=1, Option ID :- 1161,
= 2, Option ID :- 1162,
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=« 3, Option ID :- 1163,

= 4, Option ID :- 1164,
Answer Given:- 4, Option ID : -1164

Question ID:- 292

A speech signal of 3 kHz used to modulate a carrier signal of frequency 1 MHz, using amplitude

modulation. The frequencies of the side bands will be :
(1) 1.003 MHz and 0.997 MHz

(2) 3001 kHz and 2997 kHz

(3) 1003 kHz and 1000 kHz

(4) 1 MHz and 0.997 MHz

S g %1 TR #d 8¢ 1 MHz @ & 8% Hehadh a1 HIgiad i o fau 3 kHz a1% Shdsh
(¥fra faer) =1 w2 foran T o ured €l w0t srafaai 2 e

(1) 1003 HMEES 3R 0.997 HES
2) 3001 feraiees 3R 2997 fehci@est
3)

(

(3) 1003 frel@est 3R 1000 freiEes

(4) 1 TMESH AR 0.997 LS
Options:-

=1, Option ID :- 1165,
= 2, Option ID :- 1166,
=« 3, Option ID :- 1167,

= 4, Option ID :- 1168,
Answer Given:- 1, Option ID : -1165

Question ID:- 293

Three waves A, B and C of frequencies 1600 kHz, 5 MHz and 60 MHz respectively are to be
transmitted from one place to another. Which of the following is the most appropriate mode of
communication ?

(1) A is transmitted via space wave while B and C are transmitted via sky wave.

(2) A is transmitted via ground wave, B via sky wave and C via space wave.

(3) B and C are transmitted via ground wave while A is transmitted via sky wave.
(4)

4) B is transmitted via ground wave while A and C are transmitted via space wave.
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A, B @R C ¥ 7t forent smafemi smr: 1600 foreieds, 5 Tmadst oiR 60 Hieest § S% Uk I o g
I ek W fohan S 8 ol 5 g9 § fifehd | 9§ o0 He=R i Haitus 399w fafy gni ?
(1) A% HaR femre o & e | foman S € s B 3R C ot HYR STRT a3 3 e | 2 & |
(2) A IR Y- & qreqq 9 FRa S 8, B ol §ER0l SRR 9 H SR C o1 H=w fese adn

% WA a1 §

(3) B 2R C &1 T - F WA § i A 1 S0 SRS a1 § g g
(4) B 1 TN -G ¥ Fafeh A 3R C o1 Far fome o 9 &

Options:-

»1, Option ID :- 1169,
= 2, Option ID :- 1170,
=« 3, Option ID :- 1171,

=« 4, Option ID :- 1172,
Answer Given:- 2, Option ID : -1170

Question ID:- 294

The simplification of the Boolean expression

(EB(‘:) + (ABC) is:

(1) o
2 1
3) C
(4) A

Options:-

=1, Option ID :- 1173,
=« 2, Option ID :- 1174,
=« 3, Option ID :- 1175,

= 4, Option ID :- 1176,
Answer Given:- 2, Option ID : -1174

Question ID:- 295
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The digital logic family which has minimum power dissipation is :

1) TTL

(

(2) RTL
(3) ECL
(4) CMOS

Frifera & 9 forg fesiiea wifes Fa | ol =1 e & 31 &
(1) TTL

(2) RTL

(3) ECL

(4) CMOS
Options:-

=1, Option ID :- 1177,
=« 2, Option ID :- 1178,
=« 3, Option ID :- 1179,

= 4, Option ID :- 1180,
Answer Given:- 4, Option ID : -1180

@
NIEW

Question ID:- 296

(1) NAND or an EXNOR gate
(2) OR or an EXOR gate

(3) AND or an EXOR gate
(4) NOR or an EX-NOR gate

1) = d NAND 21 EXNOR 72 g1
2) FTH OR A EXOR T2 €1
3) ardl AND 91 EXOR T2 § |

(
(
(
(4) =W NOR 1 EX-NOR T |
Options:-

=1, Option ID :- 1181,

=« 2, Option ID :- 1182,

= 3, Option ID :- 1183,

= 4, Option ID :- 1184,
Answer Given:- 4, Option ID : -1184

The output of a logic gate is 1 when all its inputs are at logic 0, the gate is either :

fordt @ifere e @1 frfg 1 & safs @ifes & g9t 9+t fFAfafsai (7)) o e @ ag 12 -

Question ID:- 297
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The 2's complement of the number 1101101 is :

1) 0010011

(

(2) 1101110
(3) 0010010
(4) 0110010

Freifera | SE-H W@ 1101101 1 2's T © -
(1) 0010011

(2) 1101110
(3) 0010010
(4) 0110010
Options:-

=1, Option ID :- 1185,
= 2, Option ID :- 1186,
=« 3, Option ID :- 1187,

= 4, Option ID :- 1188,
Answer Given:- 1, Option ID : -1185

@
NIEW

Question ID:- 298

DeMorgan's theorem shows the equivalence of :
(1) NAND gate and OR gate

(2) NOR gate and bubbled OR gate

(3) NOR gate and bubbled AND gate

(4) NAND gate and bubbled AND gate

< it v e 6§ e e a3
(1) NAND 72 3R OR 2

(2) NOR 72 3R §g9g OR 12

(3) NOR 2 3iR gggg AND T2

(4 NAND 7 &iR gggg AND T2

Options:-

=1, Option ID :- 1189,
=« 2, Option ID :- 1190,
= 3, Option ID :- 1191,

= 4, Option ID :- 1192,
Answer Given:- 3, Option ID : -1191

Question ID:- 299
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The digital logic family that has the lowest propagation delay time is :

(1) ECL

(2) TTL

(3) CMOS

(4) NMOS

= Tesfiea difss e e yan facis e gaifus w9 (FF) 3 ¢
(1) ECL

(2) TTL

(3) CMOS

4) NMOS
Options:-

=1, Option ID :- 1193,
= 2, Option ID :- 1194,
=« 3, Option ID :- 1195,

= 4, Option ID :- 1196,
Answer Given:- 2, Option ID : -1194

Question ID:- 300

In digital IC's, Schottky transistors are preferred over normal transistor because of their :
Lower power dissipation

(1)

(2) Higher power dissipation
(3) Lower propagation delay
(

4) Higher propagation delay

fesftear ome =, H Tmr Zifsrex #i erden vtz Zifaex 1 aifus 1oe fre 99 &1 1 SR 2 2
(1) S sT3eTFa % foem & g

(2) =H rdETHd e faera em €

(3) 3% YER § aTienhd %A facd g
(4) e YHR H o7UaRd sifeer foaeie g
Options:-

=1, Option ID :- 1197,

=« 2, Option ID :- 1198,

=« 3, Option ID :- 1199,

= 4, Option ID :- 1200,
Answer Given:- 3, Option ID : -1199

Question ID:- 301
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1's complement representation of decimal number of —17 by using 8 bit representation is :

(1) 1110 1110
(2) 1101 1101
(3) 1100 1100
(4) 0001 0001

8 fore Fr&wm =1 TR &3d BU — 17 o SR9aTd e o 1's Tk F1equ) Feifra o § siF-5 Hem 27
(1) 1110 1110
(2) 1101 1101
(3) 1100 1100
(4 0001 0001

Options:-

=1, Option ID :- 1201,
= 2, Option ID :- 1202,
=« 3, Option ID :- 1203,

= 4, Option ID :- 1204,
Answer Given:- 1, Option ID : -1201

Question ID:- 302

The octal equivalent of (245),, is :

(1) (360)g

(2) (365)

(3) (563)

(4)  (562)4

(245)y 1 3TEF A @
(1) (360)g

() (365)

(3) (563)

(4) (562)4
Options:-

=1, Option ID :- 1205,
= 2, Option ID :- 1206,
=« 3, Option ID :- 1207,

= 4, Option ID :- 1208,
Answer Given:- 2, Option ID : -1206

Question ID:- 303
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The binary equivalent of (FA), is
(1) 1010 1111
(2) 1111 1010
(3) 1000 1111
(4) 1111 1000

(FA),, =1 fgameamdl geaie © -
(1) 1010 1111

(2) 1111 1010

(3) 1000 1111

(4) 1111 1000

Options:-

=1, Option ID :- 1209,
= 2, Option ID :- 1210,
=« 3, Option ID :- 1211,

= 4, Option ID :- 1212,
Answer Given:- 2, Option ID : -1210

Question ID:- 304

is called the figure of merit of an IC family.

(1) Speed

(2) Noise margin

(3) Speed power product
(4) Power dissipation

Frevifera & & fopd STEE. %1 1 <ardich el ST § 2

(1) =
(2) @ IUid
(3) = forga oif 3R
(4) foga am
Options:-

=1, Option ID :- 1213,
= 2, Option ID :- 1214,
=« 3, Option ID :- 1215,

= 4, Option ID :- 1216,
Answer Given:- 3, Option ID : -1215

Question ID:- 305
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A multivibrator is used as a gating circuit and as a delay element.
(1) Astable

(2) Monostable
(3) Bistable

(4) Oscillator

Freifera & | forg agehfua =1 WM Tifen uftay IR faciasr o@gd & ®9 § 26§ 2
(1) F=Eferd Sgehias

(2) TumarfdE FgeRiTs
(3) Te-Teufasr agshfom
(4) T SEeRT
Options:-

=1, Option ID :- 1217,
=« 2, Option ID :- 1218,
=« 3, Option ID :- 1219,

= 4, Option ID :- 1220,
Answer Given:- 1, Option ID : -1217

@
NIEW

Question ID:- 306

For an astable multivibrator,
C=01pF Ry =20 kQ and Rgz=60 kQ

The frequency of oscillation is approximately :

(1) 1kHz

(2) 10 kHz

(3) 500 Hz

(4) 5kHz

forddt werafera agsfs H:
C=01puF R, =20 kQ 3R Rz=60 kQ
o S =i ST e feret B8R 2
(1) 1 frares

(2) 10 ferciees

(3) 500 feFeiees

4) 5 frdrds
Options:-

=1, Option ID :- 1221,
= 2, Option ID :- 1222,
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=« 3, Option ID :- 1223,

= 4, Option ID :- 1224,
Answer Given:- 4, Option ID : -1224

Question ID:- 307

Which of the following Boolean algebraic expression is incorrect ?
(1) A+ AB=A+B

(2) A+ BC=(A+ B)(A+ C)

(3) A+AB=B

()  AB+ AC+ BC= AB+AC

freifera § 9 SE-91 geid ASrodesss Teld ¢ 2
(1) A+ AB=A+B

(2) A+ BC=(A+ B)(A+ C)

(3) A+AB=B

(4) AB+ AC+ BC= AB+AC

Options:-

=1, Option ID :- 1225,
= 2, Option ID :- 1226,
=« 3, Option ID :- 1227,

= 4, Option ID :- 1228,
Answer Given:- 3, Option ID : -1227

Question ID:- 308

The difference output in a half subtractor is the same as the :

1) Difference output of a full subtractor.

a3

—

(

(2) Sum output of a full adder.
(3) Carry output of a half adder.
(

4)  Sum oufput of a half adder.

Tt o15-=rases o frig feifea 5 § forass wom e &2
(1) Ui =HEehersh & HR 1A %
(2) qUi AT & Fe i+
(3) g ATk F e i %
(4) 3G ANTHR o Fol (FH

Options:-
«1, Option ID :- 1229,
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=« 2, Option ID :- 1230,
=« 3, Option ID :- 1231,

= 4, Option ID :- 1232,
Answer Given:- 4, Option ID : -1232

@
NIEW

Question ID:- 309

For the Boolean expression,

A+AB+ABC+ABCD+ ...=

(1) A+B+C+....
2 A+B+C+D+
3 1

(49 0
EGIRE2ECICR I

A+AB+ABC+ABCD+ ...=
(1) A+B4+CH. ...

(20 A+B+C+D+ ..
(3)

(

1
49 0
Options:-

=1, Option ID :- 1233,
=« 2, Option ID :- 1234,
=« 3, Option ID :- 1235,

= 4, Option ID :- 1236,
Answer Given:- 1, Option ID : -1233

Question ID:- 310

Voltage series feedback (also called series shunt feedback) results in :
1) Increase in both input and output impedance.

2) Decrease in both input and output impedance.

(1) e oiR feie S 61 g adt 2

(2) e iR i <91 o6t garen § g B 7
(3)  Trerer wanen et € AR Frim ganen sedt 81
(4) Tt gane wedl @ SR i geren sedt 2

Increase in input impedance and decrease in output impedance.

4)  Decrease in input impedance and increase in output impedance.

Fiezdl SEe widor (s gaen vz gfaaro ff #81 9 §), & Feasy
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Options:-
»1, Option ID :- 1237,
= 2, Option ID :- 1238,
= 3, Option ID :- 1239,

= 4, Option ID :- 1240,
Answer Given:- 3, Option ID : -1239

Question ID:- 311

The variation of drain current with gate to source voltage (I, — V¢ characteristic) of a MOSFET

in shown in figure, The MOSFET is :

Ip A

\\‘;
0l Vgg

1)  An n channel depletion mode device.

(
(2) An n channel enhancement mode device.
(3) A p channel depletion mode device.

(

4) A p channel enhancement mode device.

feu 7o s@ H fHA MOSFET &1 12 9 Hid dicedl 9 ivare 91 (ffg gmn) &1 fa=zo
(I — Vi Afes) g9 v &
g% MOSFET ¥ :

Ip a

e
0l Vg

(1) n-~Fa safafa & gfe

(2) n-—=Hd AESGH fafa = gfw
(3) p-Ta & fafy it gfw

(4) p-= 9 dESA fafy &) gfe

)
)
Options:-

=1, Option ID :- 1241,
= 2, Option ID :- 1242,

=« 3, Option ID :- 1243,

= 4, Option ID :- 1244,
Answer Given:- 4, Option ID : -1244

Question ID:- 312
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Match items in Group I with items in Group II, most suitably :

Group-I Group-I1

LED (i) Heavy doping
Avalanche photodiode (ii) Coherent radiation
Tunnel diode (iii) Spontaneous emission
Laser (iv) Current gain

(A)-(1), (B)~(i1), (C)-(iv), (D)-(iii)

(A)-(), ( )( i), (©)-(1) (D)-(iv)

(A)-Gii), (B)-(iv), (O)-(), (D)-(i1)

(A)-(1), ( ) (@), (O-(v), (D)-(ii)

HE-1 iR T9e-11 ¥ feu 7 #ei =l 9999w Y ¥ gHferd &i-

-1 wHE-11

(A) TAZEL @ 5= 9
(B) 31E¥ME Wil SEE (i) o fafem
(C) FererE (i) T IS
(D) oS (iv) N fe
(1) (A)-(), (B)-Gi), (O)-(iv), (D)-(iii)

(2)  (A)-(), (B )( i), (O)-(), (D)-(iv)

(3)  (A)-(it), (B)-(v), (O)-(1), (D)(ii)

(4)  (A)-(), (B)-(1), (O)-(iv), (D)-(iii)
Options:-

=1, Option ID :- 1245,
= 2, Option ID :- 1246,
=« 3, Option ID :- 1247,

= 4, Option ID :- 1248,
Answer Given:- 3, Option ID : -1247

@
NIEW

(1)

Question ID:- 313

The resistivity of a uniformly doped n-type Si sample is 0.5 Qcm. If the electron mobility (pn) is
1250cm?/V-sec and the charge of an electron is 1.6X10~1? coulomb, the donor impurity
concentration (Np,) in the samples is :

2x 1016 /cm?
1% 10 /cm3
2.5x10%/cm?
1x1015/cmd
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fordt wogam ®9 9 mifca (Fafsd) n-9&y & Si do@ &1 gfadgsar 0.5 Q 9.9 ¥ g seaeE &
uam(un)lza[}m—/\/sec%‘sﬁzs—@mmwaﬂém16X10—19§am%a‘fﬁmaﬁwa%wwm

(

(1) 2x10%/cm3
(2) 1x10'%/cm?
(3) 25x10%/cm?
(

4) 1x10%/cm?

Options:-

=1, Option ID :- 1249,
= 2, Option ID :- 1250,
= 3, Option ID :- 1251,

= 4, Option ID :- 1252,
Answer Given:- 2, Option ID : -1250

Question ID:- 314

The following relationships in a transistor between «a and 3 are correct except :

=i
@ 1-e=1ig
® P g
W w=gtg

ot gifsret H oo (o) 23R e () & men Frpifera § & -9 Gay 78 g 8 2

__b
O *T14+p
1
@ 'TeTTLp
(3) B=l—oa
B

@ *=7_5

Options:-

=1, Option ID :- 1253,
= 2, Option ID :- 1254,
= 3, Option ID :- 1255,
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= 4, Option ID :- 1256,
Answer Given:- 4, Option ID : -1256

@
NIEW

Question ID:- 315

(1) 200
(2) 400
(3) 600
(4) 6000

7fe fordl yage & dF S =10 & @fe 10, 20, 30 & @ 990 afsy feae 2e 2

(1) 200
(2) 400
(3) 600
(4) 6000
Options:-

=1, Option ID :- 1257,
» 2, Option ID :- 1258,
=« 3, Option ID :- 1259,

=« 4, Option ID :- 1260,
Answer Given:- 4, Option ID : -1260

If three cascaded stages of amplifiers have gains 10, 20, 30, the overall gain will be :

Question ID:- 316

Which of the following configurations can be used as a buffer ?
1) Common Emitter

(

(2) Common Base

(3) Common Collector
(

4) All of the above

fr=ifera § 9 forg fomamg &1 w1 v afcdidt (awR) & &9 9 o s gaar &2
(1) HH= SSH

(2) HEFI SER

(3) HH HUEH

(

4) 3T [l

Options:-

=1, Option ID :- 1261,
« 2, Option ID :- 1262,
= 3, Option ID :- 1263,
« 4, Option ID :- 1264,
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Answer Given:- 1, Option ID : -1261

Question ID:- 317

An oscillator of the LC types that has a split capacitor in the tank circuit is :

(1) Hartley

(2) Colpitts

(3) Tuned

(4) Weinbridge

LC WY &1 12 eoreh foud 3% gy o fawfea guf da g, a8 & -

(1) BIEeft
(2) ifewe
(3) HHE
(4) SIS
Options:-

=1, Option ID :- 1265,
» 2, Option ID :- 1266,
=« 3, Option ID :- 1267,

= 4, Option ID :- 1268,
Answer Given:- 2, Option ID : -1266

Question ID:- 318

The frequency stability of LC oscillator is than RC oscillators.
1) Less
) More

(
(2
(3)  Either of the above

(4) Depends on R, L and C

LC Siee =1 Sgfd enfae RC S i gorl | ¢
(1) FHATEE

(2) erferr 2 §

(3) U4 A H HHE

(4) @R, L 3R C Wl ®

Options:-

=1, Option ID :- 1269,
= 2, Option ID :- 1270,
=« 3, Option ID :- 1271,

= 4, Option ID :- 1272,
Answer Given:- 1, Option ID : -1269
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Question ID:- 319

Weinbrigde oscillator uses feedback.
(1) Positive

(2) Negative

(3) Both positive and negative

(

4)  Neither positive or negative

AsiTSt Sret H g AR &1 YERT S § 2
1)  EEY

Options:-

=1, Option ID :- 1273,
=« 2, Option ID :- 1274,
» 3, Option ID :- 1275,

= 4, Option ID :- 1276,
Answer Given:- 1, Option ID : -1273

@
NIEW

Question ID:- 320

Which is not an effect of negative feedback ?
(1) Reduces noise

(2) Reduces distortion

(3) Increases gain
(

4) Increases bandwidth

Freifera © | =1 BuTeHes gAY 31 99TE el ¢ 7

(1) <@ = %H &

(2) fawgom =g g

(3) eAfey s

(4) wsfagy =g
Options:-

=1, Option ID :- 1277,
=« 2, Option ID :- 1278,
=« 3, Option ID :- 1279,

= 4, Option ID :- 1280,
Answer Given:- 3, Option ID : -1279

Question ID:- 321
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The deflection on the screen of CRT is :
1) Directly proportional to the deflecting voltage V.
2)  Directly proportional to the accelerating voltage Va.

(
(
(3
(

—

Proportional to separation between plates.

4) None of the above.

CRT B9 R fadmu 2ar @

(1) Tasdt dieedr VD & Jeaard: qEmEgml
(2) Taftd dieedr Va & | qemard
(3) ufeal % We GereRvl 1 HHEI!
(4) 9w H H FR

Options:-

=1, Option ID :- 1281,
= 2, Option ID :- 1282,
=« 3, Option ID :- 1283,

= 4, Option ID :- 1284,
Answer Given:- 1, Option ID : -1281

Question ID:- 322

The magnetic deflection sensitivity of CRT is :
(1) Independent of Magnetic field intensity B

(2) Proportional to the Magnetic field intensity B.

(3) Inversely proportional to the magnetic field intensity B
(

4)  None of the above.

CRT &t gorhi fadioor gofear 2rdt 2 :
(1) =eishia & diga B § fafaa

(2) FEHE & dlerdl B %1 HAEI
(3) ST & T B T HHI
(4) 3w H § FE

Options:-

=1, Option ID :- 1285,
= 2, Option ID :- 1286,
« 3, Option ID :- 1287,

= 4, Option ID :- 1288,
Answer Given:- 2, Option ID : -1286

Question ID:- 323
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For a half wave controlled rectifier, the average value of output dc voltage is given by :

vﬂ‘\

(1) Vac = —-(1— cosb)
T

(2 Va = %l(l+ cosbq)
11'

V .
3) Vi = 7‘“({:0891 = 1)

Vi

Viy. =
(4) dc 20

(1 + cosby)

i i fewsrrll < fo fei de dieedn =1 sfra a3 feifea 5 9 e fefta g g2
Vm

(1) Vie = P (1= cosBy)
(2) Vi = 2V—m(l+ cosf)
T

v
(3) Vi = 7‘“({?0381 = L)

Vm

e (1 + cosBy)

Options:-

=1, Option ID :- 1289,
= 2, Option ID :- 1290,
« 3, Option ID :- 1291,

= 4, Option ID :- 1292,
Answer Given:- 4, Option ID : -1292

@
NIEW

Question ID:- 324

In LC filter, the ripple factor :
1) Increases with the load current.
Decreases with the load current.

)
3) Increases with the load resistance.
)  Remains constant with the load current.

LC fheer (feices) | 3= 70 ¢
(1)  onfd &% S 9 2
(2) I R % W Hed g
(3) R Wfede o T1e el S
(4) i om & wrer Fred e gl
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Options:-
»1, Option ID :- 1293,
= 2, Option ID :- 1294,
= 3, Option ID :- 1295,

= 4, Option ID :- 1296,
Answer Given:- 4, Option ID : -1296

Question ID:- 325

The bleeder resistor is mainly used in the dc power supply :

(1) As a safety feature to discharge capacitors to safe voltage levels after power is removed.
(2) To improve voltage regulation.

(3) Both (1) and (2)

(4) To keep the power supply on.

fem fagga 91 (do) =t 2mufd § @et wiedees =i w3 & ?

(1) Toregd == g2me S & a5 & dieedl R a6 Heis o e 8 U S 3u™ & 9 |
(2) dieed % fafem § gur @m & foag
(3) I (1) 3R (2) <

(4) Taga smyfd st w@ & oo
Options:-

=1, Option ID :- 1297,

= 2, Option ID :- 1298,

= 3, Option ID :- 1299,

= 4, Option ID :- 1300,
Answer Given:- 3, Option ID : -1299

Question ID:- 326

Find Ceq :

@)

.—

>
=
®
—
A=

1 2C
@ <C
® 3C
@ 35C
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Ceqﬂm-‘liﬂﬁﬁ:

0

Response Sheet

T T

@
NIEW

(1) 7 volts
(2) 4volts
(3) 6 volts
(4) 3 volts

C
j =C
1 3
3
2 —C
@ 3
2
—C
® 3
4
—C
4 3
Options:-
=1, Option ID :- 1301,
= 2, Option ID :- 1302,
= 3, Option ID :- 1303,
= 4, Option ID :- 1304,
Answer Given:- 1, Option ID : -1301
Question ID:- 327
Find the node voltage V,:
I=> s VP s
6 () 30
+
8V C) (1‘ 2A 31
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Response Sheet

CT 2A

ey dieedl F it
[— AVAA Vb MAA
6 ) 30

3l

(1) 7 @iee
(2) 4 @i
(3) 6 @
(4) 3 @
Options:-

=1, Option ID :- 1305,
= 2, Option ID :- 1306,
=« 3, Option ID :- 1307,

= 4, Option ID :- 1308,
Answer Given:- 1, Option ID : -1305

@
NIEW

(1)

1
1
2

4

L

Question ID:- 328

el ol STUT I BT 2
n 1
o =
@ 5
3) 4
1
@ 3
Options:-

=1, Option ID :- 1309,
=« 2, Option ID :- 1310,
= 3, Option ID :- 1311,

The ratio of energy stored by the series combination of two identical capacitors to their parallel

combination, when connected to same supply voltage is :

e Bl o STyl eeed § Sie M 0 Sl Hew W %1 39 FHMAIAL HASH i SEel e § Hufed
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=« 4, Option ID :- 1312,
Answer Given:- 4, Option ID : -1312

Response Sheet

@
NIEW

Question ID:- 329

(1) (@)-(b), (@)
(2 @)-b) (i)
(3 @)-@) @)-(b)
4 (@-@), [@)-(c)
Options:-

=1, Option ID :- 1313,
= 2, Option ID :- 1314,
= 3, Option ID :- 1315,

=« 4, Option ID :- 1316,
Answer Given:- 1, Option ID : -1313

s

In which of the following cases will the mutual inductance be (i) Minimum (ii) Maximum ?

Question ID:- 330
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In a series L-C R circuit, voltage across inductor, capacitor and resistor are Vi, Ve and Vg

respectively. What is the phase difference between ?
(i) Vp and Vg

(i) V and V?
- L . s
n O 7 @ 0

m
@ @O = @ 5

et L-C R sf@en & wftuy # faines, Genfer ol ofadies &1 dieea wa: v, Ve 3R Vp 80
() VvV ERV, @) vV, RV
% Te T 3T eifRd § 9 e ?

W @ 5 @ 0

)

|

G
STE

® o 5 @ =

ik

@ O 5 @

Options:-

=1, Option ID :- 1317,
= 2, Option ID :- 1318,
» 3, Option ID :- 1319,

= 4, Option ID :- 1320,
Answer Given:- 3, Option ID : -1319

Question ID:- 331

An electric bulb is connected in series with an inductor and an AC source. When switch is closed

and after some time an iron rod is inserted into the interior of inductor. The brightness of the bulb

will

(1) Decrease, due to increase in inductive reactance.
(2) Increase, due to increase in inductive reactance.
(3) Decrease due to decrease in inductive reactance.
(4) No change in brightness.
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T fostell el e § U faiver i v yoqmadl O ©id 9§ S )

T YR =g F fem S 2R o 99 = foiE % oda: 9m § v R 5 9 1 sia:ntid e s
2 d1 Fd Tl IHE -

(1) e UfTend & e o RO ¥ I ¢ |

(2) T FfqEd % S % HR o S §

(3) U Ufaam &% = F FHU U W 2

(4) = I i H e aRedy T8 g 2

Options:-

=1, Option ID :- 1321,
= 2, Option ID :- 1322,
« 3, Option ID :- 1323,

= 4, Option ID :- 1324,
Answer Given:- 1, Option ID : -1321

Question ID:- 332

The following figure shows the input waveform A and B and output waveform Y of a gate. Identify
the gate :
B —

(I) OR gate

(2) AND gate
(3) XNOR gate
(4) NAND gate
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== & % ATpfa H TR 2 % faw 9l w9 (39Ye 9w A 3R B a9l fRIH @ ®u Y & g9 ™ e
ﬂ?‘cﬁﬂﬁqﬂ-ﬁﬁﬂlz

S : : :
B i E
Y : : : ; |

(1) OR 2

(2) AND 2

(3) XNOR 72

(4) NAND 2

Options:-

=1, Option ID :- 1325,
=« 2, Option ID :- 1326,
=« 3, Option ID :- 1327,

= 4, Option ID :- 1328,
Answer Given:- 3, Option ID : -1327

Question ID:- 333

For an amplitude modulated wave, the maximum amplitude is found to be 10 V while the minimum

amplitude is found to be 2 V. What is the modulation index m ?

1
3

2
2 3
(3 1

=
S
| =
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Wmazﬂ%:
1
L 3
2
2 3
3 1
1
@ 5
Options:-

=1, Option ID :- 1329,
= 2, Option ID :- 1330,
=« 3, Option ID :- 1331,

= 4, Option ID :- 1332,
Answer Given:- 2, Option ID : -1330

fordlt s wrgfad @ % foru sifusran s 10 V IR ST € SEie JAas $EM 2 Vo "iged

@
NIEW

Question ID:- 334

(1) Lower cost

(2) Better high frequency response
(3) Small size

(4) Reliability

T IC i ga § fihed IC 1 &1 @1 82

(1) =" aF[
(2) SER 3= Agha s
(3) @Y AR
(4) TavegrEE

Options:-

=1, Option ID :- 1333,
= 2, Option ID :- 1334,
= 3, Option ID :- 1335,

= 4, Option ID :- 1336,
Answer Given:- 3, Option ID : -1335

As compared to monolithic IC's , film IC's have the advantages of :

Question ID:- 335



https://aview.in/
https://aview.in/category/previous-papers/

2/23/23, 10:46 PM Response Sheet

In an Integrated circuit, the SiO2 layer provides :

(I) Physical strength.

(2) Conducting path.

(3) Isolation.

(4) Electrical connection to the external circuit.

forelt wa witay #, Si0, T § 1y g 2

(1) iifdes yerer

(2) HTeTRcd HE

(3) gYE

(4) = 9fRT W A I

Options:-

=1, Option ID :- 1337,
= 2, Option ID :- 1338,
=« 3, Option ID :- 1339,

= 4, Option ID :- 1340,
Answer Given:- 3, Option ID : -1339

@
NIEW

Question ID:- 336

Monolithic transistors are formed in the epitaxial N-layer :
(1) In one operation.

(2) By repeated impurity diffusions.
(3) By evaporation process.

(

4) By oxidation.

TeReTqrETUR Zifeer siferiEt N-uwd # fafifa 2a € -
(1) U= Hfehan §

2 TRghTE iy fore g
3) STSHISH o WehH H

(
(
(4) FTEHA (SRR BN
Options:-

»1, Option ID :- 1341,

= 2, Option ID :- 1342,

=« 3, Option ID :- 1343,

= 4, Option ID :- 1344,
Answer Given:- 4, Option ID : -1344

Question ID:- 337
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In the circuit shown, the value of output Vo is :

MNMVYWA
12kQ
4kQ
+1Vo o Ijr\ Vo
+Ve——h 1
(1) +3V
(2) -3V
(3) -7V
4) +7V
T T uftay § R dees 1 HE 9
AW
12kQ
4kQ
+1Ve AW I;\ Vo
Vet 1
(1) +3 9
(2) 349
(3) -7
(4) +7 3=
Options:-

=1, Option ID :- 1345,
= 2, Option ID :- 1346,
= 3, Option ID :- 1347,

= 4, Option ID :- 1348,
Answer Given:- 3, Option ID : -1347

Question ID:- 338
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Choose the properties of ideal op Amp :
(1) Open loop gain = finite
Open loop bandwidth = =
CMRR =
Input resistance =0
Output resistance =

(2) Open loop Bandwidth =«
Open loop BW ==
CMRR ==
Input resistance = =
Output resistance =0

(3) Open loop gain = =
Open loop bandwidth = =«
CMRR =0
Input resistance = =
Output resistance = =

(4) Open loop gain =
Open loop BW ==
CMRR =0
Input resistance = %

Output resistance =0

@
NIEW
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et b ST & o fafe Fifem

(1) H® 9 dfed =i
6 U9 Sefagy =«
CMRR = =
Frewr gfadig =0
e gfedie = o

() HE I Al =
T T Sefagd BW = =
CMRR = =
e gfadiy = =
T gfadE =0

(3) TS T AfH =
b a9 Sefeey =«
CMRR =0
e ofediy = =
| gfeliy = o

(4 TS TV A(H =
e U9 Sefagy =«
CMRR =0
Fraw gfedie =
et gfade =0

Options:-

=1, Option ID :- 1349,
= 2, Option ID :- 1350,
= 3, Option ID :- 1351,

= 4, Option ID :- 1352,
Answer Given:- 2, Option ID : -1350

Response Sheet

@
NIEW

Question ID:- 339
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Transfer characteristics of op-Amp is :

Vo
A
(1) >Va
Vo
A
Vsat r-----
(2) »\Vd
------ Vsat
Vo
A
Vsat-----
(3) »Vd
Vo
A
(4) »Vd
Vgat o« =e==
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T (OP) TR &t siao fawme ¢ :
Vo
A
(1) >Vd
Vo
A
Vsatr----=
(2} »Vd
------ Vsat
Vo
A
Vsat p====~
(3) »Vd
Vo
A
(4) »Vd
Vsatf-----
Options:-

=1, Option ID :- 1353,
= 2, Option ID :- 1354,
=« 3, Option ID :- 1355,

= 4, Option ID :- 1356,
Answer Given:- 2, Option ID : -1354

Question ID:- 340
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The output of the circuit is :
R¢
MW
Ry
Voo AMAA >
——o Vo
V MM — +
1o RI "
f
Ry
1y Vo = E(V?_ - Vi)
R
2 Vo= R_:(Vl ~ V)
R
3) Vo= EL(VZ - Vi)
_ Ry
(4) Vo = R,
iy & foig 2
R¢
MM
Ry
Voo AW =
——o Vo
V AW +
1o R-[ .
f
Ry
(1) Vo = R—f(vz - Vi)
R
2 Vo= R—[(Vl — Vo)
R
3 Vo= R—;(Vv - V)
_ =By
(4 Yo =g,
Options:-
=1, Option ID :- 1357,
= 2, Option ID :- 1358,
=« 3, Option ID :- 1359,
= 4, Option ID :- 1360,
Answer Given:- 3, Option ID : -1359
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Question ID:- 341

The unity follower circuit provides a gain of :
(1) Zero with phase reversal.

(2) Unity with no phase reversal.

(3)  Unity with phase reversal.
(

4) Zero with Zero phase.

qeaHes SHT aftgy § feifehd @fed e gl 2 -

(1) &9 R § YA
(2) Y SFHHT FE B T deEHE
(3) Y FHEY F WY TEHE
(4) I HH H YA TEHE
Options:-

=1, Option ID :- 1361,

« 2, Option ID :- 1362,

= 3, Option ID :- 1363,

= 4, Option ID :- 1364,
Answer Given:- 2, Option ID : -1362

Question ID:- 342
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In negative feedback, choose the correct one :

BW- Bandwidth
gain

A

(4) :

— f
BW

(BW)]( = O

BW- Bandwidth

(BW); - Bandwidth with feedback

Response Sheet

@
NIEW
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HOUTE T WAeR (WiEs) H Wel fashed 94
aifed
A
oy Xy
| —————— |
. BW
“—(BW)—>
sy
A
9 1 1
L
| “(BW)P !
ey
I BW 0
sy
A
3) ; e
—
(BW)f=BW
BW - defagy
afsy
A
4 LA
(4 N
BW
(BW)¢=0
(BW), = wfasrn Hfed siefagy
Options:-
=1, Option ID :- 1365,
=« 2, Option ID :- 1366,
» 3, Option ID :- 1367,
= 4, Option ID :- 1368,
Answer Given:- 1, Option ID : -1365
Question ID:- 343
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By increasing the numbers of stages is an amplifier gain bandwidth product :

(1) Increases

(2) Decreases

(3) Remains constt.
(4) Becomes unity

TOATRRER § 10N &1 e g 9 afed sefagy 3ae

(1) =edt &

(2) FHHBS@E

3) TervEa®

(4) THE T TEE
Options:-

=1, Option ID :- 1369,
= 2, Option ID :- 1370,
= 3, Option ID :- 1371,

= 4, Option ID :- 1372,
Answer Given:- 3, Option ID : -1371

Question ID:- 344

For a given transfer function

100[1 + EJ
50

[1 5 ﬂ}[l + ﬁ]
20 200
Zeroes and poles are :
(1) Zeroes : 50 Hz, 20 Hz, 200 Hz Poles : 0 Hz
) Zeroes : 50 Hz, 20 Hz Poles : 200 Hz

2
3) Zeroes : 20 Hz, 200 Hz, Poles : 50 Hz
4) Zeroes : 50 Hz Poles : 20 Hz, 200 Hz

H(jw) =

(
(
(
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few T i e % o -
100[1 + %]
H(jw) = .
G-
20 200

A 3R %ﬁ'%‘r

(1) 3 : 50 &S, 20 &S, 200 &2, Y4 : 0 &
(2) I : 50 B, 20 TH, YT : 200 T

(3) A : 20 B, 200 &S, Yd : 50 &S

(4) I : 50 &S, ¥ : 20 §IS, 200 TS
Options:-

=1, Option ID :- 1373,
= 2, Option ID :- 1374,
= 3, Option ID :- 1375,

= 4, Option ID :- 1376,
Answer Given:- 4, Option ID : -1376

Question ID:- 345

Two identical RC amplifier stage are coupled. If the mid frequency gain is 100 for each stage, the

overall gain of amplifier is :

(1) 20 dB
(2) 40 dB
(3) 60 dB
(4) 80 dB

T g RC yass =0 w1 gfma fan 7o ¥ afe men sngfa afer gees = § 100 € A wasds & T
ofe faat & 2

(1) 20 fgaa
(2) 40 Sfoea
(3) 60 Sfaea
(4) 80 Sfo=a
Options:-

=1, Option ID :- 1377,
= 2, Option ID :- 1378,
= 3, Option ID :- 1379,

= 4, Option ID :- 1380,
Answer Given:- 4, Option ID : -1380

Question ID:- 346
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VI graph for a mettalic wire at two different temperatures T, and T, is shown. Which of the two

temperatures is higher and why ?
\'
Tl

T,

1
1) T, is large as resistance increases with temperature.

(

(2) T, is large as resistance decreases with temperature.
(3) T,is large as resistance increases with temperature.
(

4) T,is large as resistance decreases with temperature.

S ST ST AEH T, iR T, W T wifeas o) =1 VI 0 71 guien e # o 39 <Al § | wmE-a
ATIEHH USRS § SR &1 2

A
5

T,

1
1) T, % T9RA 3Tfees & il ashe o Je 9 fady 9= 81

(

(2) T, o A9 AR € Rifeh e Wi e s g
(3) T, o YA Siferek § Fifeh doshH o WY gfadH S g |
(4) T, % A st © Hiifh qrasd & Y wfoly s gl

Options:-

=1, Option ID :- 1381,
= 2, Option ID :- 1382,
=« 3, Option ID :- 1383,

= 4, Option ID :- 1384,
Answer Given:- 1, Option ID : -1381

Question ID:- 347
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A copper wire of resistance R is uniformly stretched till its length is increased to n times its original

length. Assuming there is no change in density on stretching, Calculate the resistance of new
wire(R')?

(1) R'=nR
(2) R'=n’R
(3) R'=R

' R
4 R=g3

R Sfay el fohsl a1 = a1 1 a1 591 Ja Sias 9 n A1 a9 SHAEY H 9e Sl ¢ | 5 difteg fE
=11 o 9T ST S H his UREdd TE g @ o ¢ R (RY) @ iy freifed | | @ g 2

(1) R'=nR
(2) R'=n?R
(3) R'=R
' _ R
R ==
(4) .
Options:-

=1, Option ID :- 1385,
=« 2, Option ID :- 1386,
« 3, Option ID :- 1387,

= 4, Option ID :- 1388,
Answer Given:- 2, Option ID : -1386

Question ID:- 348

Determine the value of resistance R in the circuit :

50

MAA

4A() 1003 svir  (14A

1) 20
) 40
3) 50
) 750
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feu 7o gftay # wfediy R &1 7@ fFuifa wifso

54
A

-+

4sA(}) 1008 svir  (14a

(1) 20
(2) 490
3) 50
4 750

Options:-

=1, Option ID :- 1389,
= 2, Option ID :- 1390,
= 3, Option ID :- 1391,

= 4, Option ID :- 1392,
Answer Given:- 3, Option ID : -1391

@
NIEW

Response Sheet

Question ID:- 349

We need a resistor of value 10 kQwith *=5% tolerance. The sequence of the colour band on this

resistor should be :

Brown, black, orange and silver.
Black, brown, orange and gold.

Brown, black, orange and gold.

4)  Black, brown, red and gold.

& +5% Hedal arelt 10 kQ HH 1 T Hferies =1few | o 39 wfdiees W ool 9ug %1 SswE @ e

1) 3, e, AR IR T

Options:-

=1, Option ID :- 1393,
= 2, Option ID :- 1394,
« 3, Option ID :- 1395,

= 4, Option ID :- 1396,
Answer Given:- 3, Option ID : -1395

Question ID:- 350
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Identify the false statement :
1) A primary cell is non rechargeable and cannot be reused.

2)  Dry cells are light weight and small.
3

—

Nickel cadmium cell is an example of primary cell,

(
(
(
(4) Dry cell is an electrochemical cell consisting of low moisture immobilized electrolytes in the

form of a paste.

Terd FeA &1 fafga i)

(1) wafs I eiofe 78 2 § oiR 58 g Wi | 72 @ S ek g

(2) Y% WA I TS T BT § ST ST SRR off BT 2a ¢

(3) Treper Fefaay o mafos e %1 S ¥

(4) ¥k Hot o W@t Oa S € i %n e, srdefon agd sTawes e % wu H sfafdy g
gl

Options:-

=1, Option ID :- 1397,

=« 2, Option ID :- 1398,

= 3, Option ID :- 1399,

= 4, Option ID :- 1400,
Answer Given:- 3, Option ID : -1399

Question ID:- 351

A UJT has Ry =10 K and Ry, =4 K. Its intrinsic stand-off ratio is :

(1) 0.6
(2) 04
3) 2.5
4 0.5

foHl UJT ® Rpp =10 K 3R Ry, =4 K &1 A1 0! 3197k Herg SAqare frotifera & & =1 82

(1) 0.6
(2) 0.4
(3) 2.5
(4) 0.5
Options:-

=1, Option ID :- 1401,
= 2, Option ID :- 1402,
= 3, Option ID :- 1403,

= 4, Option ID :- 1404,
Answer Given:- 2, Option ID : -1402
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Question ID:- 352

In an SCR, I; is the gate current, a; + ap are the current gains of the PNP and NPN transistors
respectively, then anode current is given by (I,) :

M) = e
1— (0{1 + [12)
@ Ta= s
1— (0{1 + [12)
B s
(Ol-l + 0’.2) ue 1
oyl
T 2-G
(4:) A Ol-l -+ 0‘.2

TRt SCR U IG T2 9T § o + ap HH9: PNP 3R NPN sl i ¥R @fed § a1 TArs ©Ry &1 fAsam
(1) H = 8

1 Ia= aqlg

1- (g + ap)
@ a2

1- (a7 + ap)

[ = aplg

(3) (Dé-l + 0{2) == 1
O{"}]_G

[p= —=>2=>—
(4) = 0&1 ~Fr C{Z
Options:-

=1, Option ID :- 1405,
= 2, Option ID :- 1406,
=« 3, Option ID :- 1407,

= 4, Option ID :- 1408,
Answer Given:- 2, Option ID : -1406

Question ID:- 353

The sensitivity(s) of a photoelectric transducer is given by :

(1) S=I%
(2) S=i/I
(3) S=I/i
(4) S=I+i

Where Iis the output current of photoelectric transducer and i is the illumination of the light input
of photoelectric transducer.
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et werrer forga IrsrA (ZIEsER) i guifedl feifea w9 # feiua =i 78 2 | wal faseq gfu)
(1) S=TI#

(2) S=i/I
3) S=l/i
(4) S=I+i

el 1 yehTel forepd UReRa e S Fe o % i i yeRrr fawd ureR w1 g e i 2

Options:-

=1, Option ID :- 1409,
= 2, Option ID :- 1410,
=« 3, Option ID :- 1411,

= 4, Option ID :- 1412,
Answer Given:- 2, Option ID : -1410

Question ID:- 354

Match the List I with List II :

List-1 List-II
(A) Linear variable differential transformer (LVDT) (i) Motion transducer
(B) Capacitative type transducer (ii) Rochelle salt
(C) Piezoeletric transducer (iii) Displacement sensitive
(D) Electromechanical type transducer (iv) Loudspeaker
(1) (A)(D). (B)(iid), (©)-(ii), (D)-(iv)
(2)  (A)-(ii), (B)-(1), (©)-(ii), (D)-(iv)
(3)  (A)-Gi), (B)-(0), (©)-(iv), (D)-(i1)
(4)  (A)-(), (B)-(iv), (O)-(ii), (D)-(i)
Tefi-1 iR Fet-11 w1 gHferd Hifsg :
Hqeli-1 -1
(A) TE™ ufEed sEFes HEE (T A EE) (i) i RERH
(B) WU WEY UIGHHS (i) A A
(O) rssiizelfags: gieEt (i) fereeme Hered
(D) <A Ak TR F YHTH (iv) T3S TiHT
(D) (A)-0), (B)(iii), (O)-(i), (D)-(iv)
(2)  (A)-(i), (B)-(1), (©)-(ii), (D)-(iv)
(3)  (A)(i), (B)-(1), (©)-(v), (D)-(11)
@) (A1), (B)-(1v), (O)-(ii), (D)-(i)

Options:-
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=1, Option ID :- 1413,
= 2, Option ID :- 1414,
=« 3, Option ID :- 1415,

= 4, Option ID :- 1416,
Answer Given:- 2, Option ID : -1414

Question ID:- 355

When emitter bypass capacitor in a CE amplifier is removed, it considerably reduces :

(1) Input resistance
(2) Output load resistance
(3) Emitter current
(4) Voltage gain
W& CE asis ¥ §uife & o1l ke ol Sedsier e2/@ Sl € of S9! H =gd sferw
el % :
(1) e gfade
(2) T ifEE gfade
(3) ISl ¥
(4) deed afe
Options:-

=1, Option ID :- 1417,
=« 2, Option ID :- 1418,
= 3, Option ID :- 1419,

= 4, Option ID :- 1420,
Answer Given:- 4, Option ID : -1420

Question ID:- 356

The output admittance ho of an ideal transistor connected in CB configuration is :

(1) 0
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CB fo=rmg & T foret eeyl Zifsret &1 frim Teran (ho) @ :
() 0

1
(I
1
(3 Bre
4 -1
Options:-

=1, Option ID :- 1421,
= 2, Option ID :- 1422,
= 3, Option ID :- 1423,

= 4, Option ID :- 1424,
Answer Given:- 1, Option ID : -1421

@
NIEW

Question ID:- 357

A class B push pull amplifier has the main advantage of being free from :

(1) Any circuit imbalances.

(2) Unwanted noise.

(3) Even order harmonic distortion.
(4) DC magnetic saturation effects.

T T F I U YA g @ 98 ¢ fF Iw
(1) aftay ¥ 89 arer forddt oft sTqem | 9 3 71
(2) 3o srEifed IR @ B

(3) HHM hH ol HAR] @90 & Hb B ¢ |
(4) Tep ¥R green TqE 9eE | Y a8
Options:-

=1, Option ID :- 1425,

= 2, Option ID :- 1426,

=« 3, Option ID :- 1427,

= 4, Option ID :- 1428,
Answer Given:- 2, Option ID : -1426

Question ID:- 358

The circuit efficiency of a Class A amplifier can be increased by using :

1) Low dc power input.

(

(2) Direct coupled load.
(3) Low-rating transistor
(

4) Transformer-coupled load.
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(1) = feg ur faga frew & g0
(2) WHE gAUd 91 & g

(3) = & i w1 TEM T
(4) THEHEFHG WK H FAN

Options:-

=1, Option ID :- 1429,
=« 2, Option ID :- 1430,
=« 3, Option ID :- 1431,

= 4, Option ID :- 1432,
Answer Given:- 4, Option ID : -1432

Response Sheet

TYq TS (FAH A) F yadF a1 uiey e fFreifed § 9 fF9 9oR 9eE 5 geRd @ 2

@
NIEW

Question ID:- 359

-1 1R Feit-11 w1 GHfed iy
ei-1

(A) FYH S 1 YaHE (FAH A)

(B) TH! TSl @l Yatieh (T B)

(C) (&9 AB)

(

D) (¥ C)

(1) (A)-(iv), (B)-(iii), (O)-(ii), (D)-(i)
(2)  (A)-(v), (B)-(ii), (C)-(iii), (D)-(3)
(3)  (A)-(), (B)-(i1), (O)-(ii1), (D)-(iv)
(4)  (A)-(D), (B)-(iii), (C)-(ii), (D)-(iv)
Options:-

=1, Option ID :- 1433,
=« 2, Option ID :- 1434,
=« 3, Option ID :- 1435,

= 4, Option ID :- 1436,
Answer Given:- 4, Option ID : -1436

=11 (ST ShI0T)
<.180°

180° - 360

180°

360°

Question ID:- 360



https://aview.in/
https://aview.in/category/previous-papers/

2/23/23, 10:46 PM

reduce to :
(1) 70
2) 9997
3) 25

(2)
(3)
4) 3

fordll yatiss =i aeea fed
feperit @1 st 2

70

99.97

25

3

Options:-

=1, Option ID :- 1437,

= 2, Option ID :- 1438,

» 3, Option ID :- 1439,

= 4, Option ID :- 1440,
Answer Given:- 3, Option ID

The voltage gain of an amplifer is 100 on applying negative feedback with B=0.03, the gain will

@
NIEW

Response Sheet

100 ¥1 B=0.03 &1 HUMEfR FfAeR % STWER & e T8 offsd T2

: -1439
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